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(viii) 23 26  34 II
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(ix) 

^mJ> H$ 
(gmPoXmar \$_m] VWm H$ån{Z`m| Ho$ {bE boIm§H$Z) 

1. (H$) lrH$m§V VWm AO` EH$ \$_© _| gmPoXma Wo VWm 5 : 3 Ho$ AZwnmV _| bm^-hm{Z H$m 
{d^mOZ H$aVo Wo &  31 _mM©, 2023 H$mo g_má hþE df© _| lrH$m§V Zo àË òH$ {V_mhr 
Ho$ àmaå^ _| < 10,000 H$m AmhaU {H$`m &  31 _mM©, 2023 H$mo g_má hþE df© 
_| 6% dm{f©H$ Xa go lrH$m§V Ho$ AmhaU na ã`mO hmoJm : 1 
(A) < 2,400 (B) < 1,200 
(C) < 1,500 (D) < 900 

 AWdm 

(I) Am^m, _§Oy Ed§ [a`m EH$ \$_© _| gmPoXma Wt VWm 3 : 3 : 4 Ho$ AZwnmV _|  
bm^-hm{Z H$m {d^mOZ H$aVr Wt &  31 _mM©, 2023 H$mo g_má hþE df© Ho$ Xm¡amZ 
[a`m Zo àË òH$ AY© df© Ho$ àma§̂  _| < 30,000 H$m AmhaU {H$`m &  
31 _mM©, 2023 H$mo g_má hþE df© _| 10% dm{f©H$ Xa go [a`m Ho$ AmhaU na 
ã`mO hmoJm :   1 
(A) < 6,000 (B) < 4,500 
(C) < 3,000 (D) < 1,500 
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General Instructions : 
Read the following instructions carefully and follow them : 
(i) This question paper contains 34 questions. All questions are compulsory. 
(ii) This question paper is divided into two parts  Part A and Part B. 
(iii) Part A is compulsory for all candidates.  
(iv) Part B has two options. Candidates have to attempt only one of the given 

options. 
 Option I : Analysis of Financial Statements 
 Option II : Computerised Accounting 
(v) Questions number 1 to 16 (Part A) and Questions number 27 to 30 (Part B) are 

multiple choice questions. Each question carries 1 mark. 
(vi) Questions number 17 to 20 (Part A) and Questions number 31 and 32 (Part B) 

are short answer type questions. Each question carries 3 marks. 
(vii) Questions number 21, 22 (Part A) and Question number 33 (Part B) are Long 

answer type-I questions. Each question carries 4 marks. 
(viii) Questions number 23 to 26 (Part A) and Question number 34 (Part B) are Long 

answer type-II questions. Each question carries 6 marks. 
(ix) There is no overall choice. However, an internal choice has been provided in few 

questions in each of the parts. 

PART A  
(Accounting for Partnership Firms and Companies)  

1. (a) Shrikant and Ajay were partners in a firm sharing profits and 
losses in the ratio of 5 : 3. Shrikant withdrew < 10,000 in the 
beginning of each quarter during the year ended 31st March, 2023. 

s drawings @ 6% p.a for the year ended  
31st March, 2023 will be :  1 

(A) < 2,400 (B) < 1,200 

(C) < 1,500 (D) < 900 

 OR 

(b) Abha, Manju and Rhea were partners in a firm sharing profits  
and losses in the ratio of 3 : 3 : 4. During the year ended  
31st March, 2023, Rhea withdrew < 30,000 at the beginning of 
each half year. s drawings @ 10% p.a. for the year 
ended 31st March, 2023 will be : 1 

(A) < 6,000  (B) < 4,500  

(C) < 3,000 (D) < 1,500  
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2. gr_m VWm bj EH$ \$_© _| gmPoXma Wo VWm 2 : 1 Ho$ AZwnmV _| bm^-hm{Z H$m {d^mOZ 

H$aVo Wo & CZH$s ny±Or H«$_e: < 2,00,000 VWm < 1,80,000 Wr &  1 Aà¡b, 2023 H$mo 

CÝhmo§Zo ^mdr bm^m| _| 
5
1  ^mJ Ho$ {bE AmXr H$mo EH$ ZE gmPoXma Ho$ ê$n _| àdoe {X`m & 

AmXr AnZr ny±Or Ho$ ^mJ Ho$ ê$n _| < 1,50,000 bm`m & AmXr Ho$ àdoe na \$_© H$s 

»`m{V hmoJr :   1 

(A) < 7,50,000 

(B) < 2,20,000 
(C) < 3,70,000 

(D) < 1,50,000 

3. (H$) bVm, _ohÿ VWm Z{_Vm EH$ \$_© _| gmPoXma Wo VWm 3 : 2 : 1 Ho$ AZwnmV _|  
bm^-hm{Z H$m {d^mOZ H$aVo Wo & 31 _mM©, 2023 H$mo CÝhm|Zo \$_© Ho$ {dKQ>Z H$m 
{ZU©̀  {b`m & boZXmam| Zo AnZr am{e < 90,000 Ho$ Am§{eH$ {ZnQ>mZ _|  
< 80,000 Ho$ nwñVH$ _yë` Ho$ ñQ>m°H$ H$mo 80% na bo {b`m & boZXmam| H$mo eof am{e 
H$m ŵJVmZ M¡H$ Ûmam {H$`m J`m & boZXmam| H$mo M¡H$ Ûmam ŵJVmZ H$s JB© am{e hmoJr : 1 

(A) < 26,000 

(B) < 64,000 

(C) < 80,000 

(D) < 1,44,000  

 AWdm 

(I) gmÝ`m, gmW©H$ VWm {ZË`m EH$ \$_© _| gmPoXma Wo VWm 4 : 3 : 1 Ho$ AZwnmV _| 
bm^-hm{Z H$m {d^mOZ H$aVo Wo &  31 _mM©, 2023 H$mo CÝhm|Zo \$_© Ho$ {dKQ>Z H$m 
{ZU©̀  {b`m & Bg {V{W H$mo \$_© Ho$ nmg < 3,00,000 H$s am{e Ho$ XoZXma Wo VWm  
< 30,000  H$m g§{X½Y G$Um| Ho$ {bE àmdYmZ Wm & {dKQ>Z na < 20,000 Ho$ 
XoZXma Sy>~ JE VWm eof XoZXmam| go 90% H$s dgybr hþB© & XoZXmam| go dgyb H$s JB© 
am{e hmoJr :   1 

(A) < 3,00,000 

(B) < 2,25,000 

(C) < 2,80,000 

(D) < 2,52,000  
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2. Seema and Laksh were partners in a firm sharing profits and losses 

in the ratio of 2 : 1. Their capitals were < 2,00,000 and < 1,80,000 

respectively. They admitted Aadi as a new partner on 1st April, 2023 for 

5
1 th share in future profits. Aadi brought < 1,50,000 as his share of 

capital. The goodwill of the firm on Aadi s admission will be : 1 

(A) < 7,50,000 

(B) < 2,20,000 

(C) < 3,70,000 

(D) < 1,50,000 

3. (a) Lata, Mehu and Namita were partners in a firm sharing profits 
and losses in the ratio of 3 : 2 : 1. They decided to dissolve the firm 
on 31st March, 2023. Creditors took over stock of book value of  
< 80,000 at 80%, in part settlement of their amount of < 90,000. 
The balance amount was paid to the creditors by cheque. The 
amount paid by cheque to the creditors will be :  1 

(A) < 26,000  

(B) < 64,000  

(C) < 80,000 

(D) < 1,44,000 

 OR 

(b) Sanya, Sarthak and Nitya were partners in a firm sharing profits 
and losses in the ratio of 4 : 3 : 1. They decided to dissolve the firm 
on 31st March, 2023. On this date, the firm had debtors amounting 
to < 3,00,000 and provision for doubtful debts of < 30,000. On 
dissolution, debtors for < 20,000 proved bad and the remaining 
debtors realised 90%. Amount realised from the debtors will be : 1 
(A) < 3,00,000  

(B) < 2,25,000  

(C) < 2,80,000 

(D) < 2,52,000  
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4. JrVm VWm har EH$ \$_© _| gmPoXma Wo VWm 3 : 2 Ho$ AZwnmV _| bm^-hm{Z H$m {d^mOZ H$aVo 

Wo & H¥$f H$mo \$_© Ho$ bm^m| _| 
5
1  ^mJ Ho$ {bE EH$ ZE gmPoXma Ho$ ê$n _| àdoe {X`m J`m 

Omo CgZo JrVm VWm har go 2 : 3 Ho$ AZwnmV _| A{YJ«{hV {H$`m & H¥$f AnZr ny±Or Ho$ ^mJ 

Ho$ ê$n _| < 1,00,000 VWm »`m{V àr{_`_ Ho$ ê$n _| < 50,000 ZJX bm`m & JrVm VWm 

har H$m Ë`mJ AZwnmV hmoJm :  1 

(A) 3 : 2    (B) 1 : 1$ 
(C) 2 : 3  (D) 13 : 7 

5. _Zw, gmoZy VWm amhþb EH$ \$_© _| gmPoXma Wo VWm 4 : 3 : 2 Ho$ AZwnmV _| bm^-hm{Z H$m 
{d^mOZ H$aVo Wo & 1 Aà¡b, 2023 go CÝhm|Zo bm^ VWm hm{Z`m| H$mo 3 : 2 : 1 Ho$ AZwnmV 
_| ~m±Q>Zo H$m {ZU©̀  {b`m & CZH$m pñW{V {ddaU < 84,000 H$m H$_©Mmar j{Vny{V© g§M` 
Xem© ahm Wm & H$_©Mmar j{Vny{V© Ho$ {bE < 75,000 Ho$ Xmdo H$m AZw_mZ bJm`m J`m & 
Cn ẁ©º$ boZXoZ Ho$ à^md H$mo àX{e©V H$aZo Ho$ {bE amoµOZm_Mm à{dpîQ> hmoJr : 1 

 {V{W {ddaU S>o{~Q> am{e 
(<) 

H«o${S>Q> am{e  
(<) 

(A)  H$_©Mmar j{Vny{V© g§M` ImVm         Zm_ 84,000  
        H$_©Mmar j{Vny{V© Xmdo ImVo go  75,000 
        _Zw Ho$ ny±Or ImVo go  4,000 
        gmoZy Ho$ ny±Or ImVo go  3,000 
        amhþb Ho$ ny±Or ImVo go  2,000 

(B)  H$_©Mmar j{Vny{V© g§M` ImVm         Zm_ 84,000  
        H$_©Mmar j{Vny{V© Xmdo ImVo go  75,000 
        _Zw Ho$ ny±Or ImVo go   4,500 
        gmoZy Ho$ ny±Or ImVo go  3,000 
        amhþb Ho$ ny±Or ImVo go  1,500 

(C)  _Zw H$m ny±Or ImVm                  Zm_ 500  
        amhþb Ho$ ny±Or ImVo go  500 

(D)  H$_©Mmar j{Vny{V© g§M` ImVm         Zm_ 84,000  
        H$_©Mmar j{Vny{V© Xmdo ImVo go  75,000 
        _Zw Ho$ ny±Or ImVo go  3,000 
        gmoZy Ho$ ny±Or ImVo go  3,000 
        amhþb Ho$ ny±Or ImVo go  3,000 
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4. Geeta and Hari were partners in a firm sharing profits and losses in the 

ratio of 3 : 2. Krish was admitted as a new partner for 
5
1 th share in 

profits of the firm which he acquired from Geeta and Hari in the ratio of 

2 : 3. Krish brought < 1,00,000 as his share of capital and < 50,000 as 

premium for goodwill in cash. The sacrificing ratio of Geeta and Hari will 

be :  1 

(A) 3 : 2  (B) 1 : 1 

(C) 2 : 3  (D) 13 : 7 

5. Manu, Sonu and Rahul were partners in a firm sharing profits and losses 
in the ratio of 4 : 3 : 2. With effect from 1st April, 2023, they decided to 
share profits and losses in the future in the ratio of 3 : 2 : 1. Their 
Balance Sheet showed Workmen Compensation Reserve of < 84,000. The 
claim on account of Workmen Compensation is estimated at < 75,000. 
The journal entry to give effect to the above transaction will be : 1 

 
Date  Particulars 

Dr 
Amount 

 (<) 

Cr 
Amount 

 (<) 
(A)  Workmen Compensation Reserve A/c       Dr 84,000  

         To Workmen Compensation Claim A/c  75,000 
         To  Capital A/c  4,000 
         Capital A/c  3,000 
         Capital A/c  2,000 

(B)  Workmen Compensation Reserve A/c       Dr 84,000  
         To Workmen Compensation Claim A/c  75,000 
         To Ma s Capital A/c  4,500 
         To s Capital A/c  3,000 
         To  Capital A/c  1,500 
(C)  Capital A/c                                     Dr 500  

           500 
(D)  Workmen Compensation Reserve A/c       Dr 84,000  

         To Workmen Compensation Claim A/c  75,000 
         Capital A/c  3,000 
         Capital A/c  3,000 
         Capital A/c  3,000 
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6.  (A) :  ñWm`r ny±Or {d{Y  _| gmPoXmam| Ho$ Mmby ImVo ~ZmE OmVo h¢ Omo Zm_ eof 
^r Xem© gH$Vo h¢ Am¡a O_m eof ^r &   

 (R) :  ñWm`r ny±Or {d{Y  _| g^r _Xm| O¡go bm^ `m hm{Z H$m ^mJ, ny±Or na 
ã`mO, AmhaU, AmhaU na ã`mO Am{X H$m boIm gmPoXmam| Ho$ ny±Or 
ImVm| _| {H$`m OmVm h¡ &     

{ZåZ{b{IV _| go ghr {dH$ën H$m M`Z H$s{OE : 1 
(A) A{^H$WZ (A) VWm H$maU (R) ghr h¢, bo{H$Z H$maU (R), A{^H$WZ (A) H$s 

ghr ì`m»`m  h¡ & 

(B) A{^H$WZ (A) VWm H$maU (R) XmoZm| ghr h¢ VWm H$maU (R), A{^H$WZ (A) H$s 
ghr ì`m»`m h¡ & 

(C) A{^H$WZ (A) ghr h¡, bo{H$Z H$maU (R) ghr Zht h¡ & 
(D) A{^H$WZ (A) VWm H$maU (R) XmoZm| µJbV h¢ & 

7 8
 

 [aMm, erZm VWm Vmár EH$ \$_© _| gmPoXma Wt VWm 3 : 2 : 1 Ho$ AZwnmV _|  
bm^-hm{Z H$m {d^mOZ H$aVr Wt & gmPoXmar g§boI _| 10% dm{f©H$ Xa go AmhaU na ã`mO 
à^m[aV H$aZo H$m àmdYmZ Wm &  31 _mM©, 2023 H$mo g_má hþE df© _| [aMm, erZm VWm 
Vmár Ho$ AmhaU H$s am{e H«$_e: < 50,000, < 40,000 VWm < 30,000 Wr &  
31 _mM©, 2023 H$mo g_má hþE df© H$m ewÕ bm^ < 57,000 Wm &  

7. erZm Ho$ AmhaU na ã`mO hmoJm : 1 

(A) < 5,000 (B) < 4,000 

(C) < 3,000 (D) < 2,000 

8. Vmár H$m bm^ _| ^mJ hmoJm : 1 

(A) < 11,500 (B) < 34,500 

(C) < 10,500 (D) < 23,000 

9. Eoë\$m {b{_Q>oS> Zo < 10 àË òH$ Ho$ 50,000 g_Vm A§em|/eo`am| H$mo < 110 à{V A§e/eo`a 
na OZVm H$mo A{^XmZ Ho$ {bE àñVwV {H$E & g_ñV am{e AmdoXZ na Xo` Wr &  48,000 
A§em|/eo`am| Ho$ {bE AmdoXZ àmá hþE VWm g^r AmdoXH$m| H$mo Am~§Q>Z H$a {X`m J`m & 
AmdoXZ na àmá am{e hmoJr : 1 

(A) < 52,80,000  (B) < 55,00,000  

(C) < 50,00,000  (D) < 48,00,000  



666 

67/3/1-13 Page 9 of 39 P.T.O.   

6. Assertion (A) :  Partner  cur Fixed 
Capital Method  may show a debit or a credit balance. 

 Reason (R) :  In the Fixed Capital , all items like share of profit 
or loss, interest on capital, drawings, interest on drawings 
etc. are recorded in the partners  capital accounts.  

  Choose the correct option from the following : 1 

(A) Assertion (A) and Reason (R) are correct, but Reason (R) is not the 
correct explanation of Assertion (A). 

(B) Both Assertion (A) and Reason (R) are correct and Reason (R) is 
the correct explanation of Assertion (A). 

(C) Assertion (A) is correct, but Reason (R) is not correct. 

(D) Both Assertion (A) and Reason (R) are not correct. 

Read the following hypothetical situation and answer questions No. 7 and 8 on the 
basis of the given information : 

 Richa, Sheena and Tapti were partners in a firm sharing profits and 
losses in the ratio of 3 : 2 : 1. The partnership deed provided for charging 
interest on drawings @ 10% p.a. The drawings of Richa, Sheena and 
Tapti during the year ended 31st March, 2023 amounted to < 50,000,  
< 40,000 and < 30,000 respectively. The net profit for the year ended 
31st March, 2023 was < 57,000. 

7. s interest on drawings will be : 1 

(A) < 5,000  (B) < 4,000 

(C) < 3,000 (D) < 2,000 

8. s share of profit will be : 1 

(A) < 11,500  (B) < 34,500 

(C) < 10,500 (D) < 23,000 

9. Alfa Ltd. offered for public subscription 50,000 equity shares of < 10 each 
at < 110 per share. The entire amount was payable on application. 
Applications were received for 48,000 shares and allotment was made to 
all the applicants. The amount received on application will be : 1 

(A) < 52,80,000  (B) < 55,00,000 

(C) < 50,00,000 (D) < 48,00,000 
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10.  (A) :  O~ A§em |/eo`am| H$m haU (forfeit)  {H$`m OmVm h¡, Vmo A§e/eò a ny±Or 
ImVo Ho$ Zm_ _| _m±Jr JB© am{e VWm O_m _| (i) gå~pÝYV AXÎm `mMZm 
ImVm AWm©V² AXÎm `mMZm VWm (ii) A§e/eo`a haU (forfeit) ImVo _| 
A§em|/eo`am| na nhbo go hr àmá am{e hmoVr h¡ & 

 (R) :  O~ A§em|/eo`am| H$m haU (forfeit) {H$`m OmVm h¡, V~ Ho$db à{V ŷ{V 
/eò a haU (forfeit)  

ImVo go gå~pÝYV g^r à{dpîQ>`m| H$mo {OZH$m boIm, boIm§H$Z nwñVH$m| _| 
H$a {X`m J`m h¡, CbQ> {X`m OmVm h¡ &     

{ZåZ{b{IV _| go ghr {dH$ën H$m M`Z H$s{OE : 1 

(A) A{^H$WZ (A) VWm H$maU (R) XmoZm| ghr h¢ VWm H$maU (R), A{^H$WZ (A) H$s 
ghr ì`m»`m h¡ &  

(B) A{^H$WZ (A) VWm H$maU (R) XmoZm| ghr h¢, bo{H$Z H$maU (R), A{^H$WZ (A) 
H$s ghr ì`m»`m  h¡ & 

(C) A{^H$WZ (A) µJbV h¡, bo{H$Z H$maU (R) ghr h¡ &   

(D) A{^H$WZ (A) ghr h¡, bo{H$Z H$maU (R) µJbV h¡ & 

11. < 10 àË òH$ Ho$ 50,000 g_Vm A§em|/eo`am| H$mo < 2 à{V A§e/eo`a 
àr{_`_ na {ZJ©{_V {H$`m & am{e H$m ŵJVmZ {ZåZ àH$ma go Xò  Wm : 

  AmdoXZ Ed§ Am~§Q>Z na  < 7 à{V A§e/eo`a (àr{_`_ g{hV)  
  àW_ Ed§ A§{V_ `mMZm na  eof 
 {ZJ©_ nyU© ê$n go A{^XÎm hþAm &  1,000 g_Vm A§em|/eo`am| na àW_ Ed§ A§{V_ `mMZm 

H$mo /eò am| H$m haU (forfeit) H$a {b`m 
J`m & BZ A§em|/eò am| Ho$ haU (forfeit) na AXÎm `mMZm ImVo _| {bIo OmE±Jo : 1 

(A) < 7,000 O_m _| (B) < 5,000 Zm_ _| 

(C) < 5,000 O_m _| (D) < 7,000 Zm_ _|  

12. ^maVr` à{V ŷ{V Ed§ {d{Z_` ~moS>© (go~r) Ho$ {Xem-{ZX}em| Ho$ AZwgma A§em|/eò am| Ho$ 
Am~§Q>Z Ho$ {bE Ý ỳZV_ A{^XmZ {ZåZ _| go {H$g ny±Or Ho$ 90% go H$_ Zht hmo gH$Vm ?  1 

(A) g§{MV ny±Or (B) àm{YH¥$V ny±Or 

(C) A{^XÎm ny±Or (D) {ZJ©{_V ny±Or   
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10. Assertion (A) : When the shares are forfeited, share capital account 
is debited with the amount called up and credited to  
(i) respective unpaid calls account i.e., calls in arrears and 
(ii) share forfeiture account with the amount already 
received on shares. 

 Reason (R) :  When the shares are forfeited, all entries relating to  
the shares forfeited, except those relating to securities 
premium, already recorded in accounting records must be 
reversed. 

 Choose the correct option from the following : 1 
(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is 

the correct explanation of Assertion (A). 

(B) Both Assertion (A) and Reason (R) are correct, but Reason (R) is 
not the correct explanation of Assertion (A). 

(C) Assertion (A) is incorrect, but Reason (R) is correct. 

(D) Assertion (A) is correct, but Reason (R) incorrect. 

11. Lexa Ltd. issued 50,000 equity shares of < 10 each at a premium of  
< 2 per share. The amount was payable as follows :  

 On application and allotment  < 7 per share (including premium) 

 On first and final call   Balance 

The issue was fully subscribed. All the money was duly received except 

the first and final call on 1,000 equity shares. These shares were 

forfeited. On forfeiture of these shares Calls in Arrears Account will be : 1 

(A) credited by < 7,000  (B) debited by < 5,000 

(C) credited by < 5,000 (D) debited by < 7,000   

12. Minimum subscription for allotment of shares as per Securities and 

Exchange Board of India (SEBI) guidelines cannot be less than 90% of 

which of the following capital ? 1 

(A) Reserve Capital (B) Nominal Capital   

(C) Subscribed Capital  (D) Issued Capital 
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13. (H$) Ho$Eb~r {b{_Q>oS> Zo < 10 àË òH$ Ho$ 3,000 A§em|/eo`am| H$mo, {OZ na < 8 à{V 

A§e/eo`a _m±Jo JE Wo, < 2 à{V A§e/eo`a H$s àW_ `mMZm am{e H$m ^wJVmZ Z 
H$aZo na, haU H$a {b`m & BZ g^r A§em|/eo`am| H$mo < 7 à{V A§e/eo`a, < 8 

àXÎm na nwZ: {ZJ©{_V H$a {X`m J`m & ny±Or g§M` ImVo _| hñVmÝV[aV H$s OmZo 

dmbr am{e hmoJr :   1 

(A) < 18,000 (B) < 24,000 

(C) < 15,000 (D) < 3,000 

 AWdm 

(I) EZ ỳHo$ {b{_Q>oS> Zo < 10 àË òH$ Ho$ 1000 A§em|/eò am| H$mo, {OZ na nyU© am{e _m±J 

br JB© Wr, < 2 à{V A§e/eo`a H$s A§{V_ `mMZm am{e H$m ŵJVmZ Z H$aZo na, 

haU H$a {b`m & BZ_| go 800 A§em|/eo`am| H$mo < 11 à{V A§e nyU© àXÎm nwZ: 
{ZJ©{_V H$a {X`m J`m & ny±Or g§M` ImVo _| O_m hmoZoo dmbr am{e hmoJr : 1 

(A) < 6,400 (B) < 8,000 

(C) < 7,200 (D) < 10,000 

14. Eogo G$UnÌ Omo ã`mO H$s H$moB© {d{eîQ> Xa dhZ Zht H$aVo h¢, H$hbmVo h¢ : 1 

(A) eyÝ` Hy$nZ Xa G$UnÌ 

(B) {d{eîQ> Hy$nZ Xa G$UnÌ 

(C) Aa{jV G$UnÌ 

(D) a{jV G$UnÌ 

15. (H$)  \$_© _| gmPoXma Wt VWm 5 : 3 : 2 Ho$ AZwnmV _| bm^m| 

H$m {d^mOZ H$aVr Wt & 30 {gVå~a, 2023 

gmPoXma _¥Ë ẁ H$s {V{W VH$ AnZo bm^ Ho$ ^mJ H$m A{YH$mar h¡ {OgH$s JUZm 
{nN>bo df© Ho$ bm^ Ho$ AmYma na H$s OmEJr & {nN>bo df© H$m bm^ < 80,000  

 1 

(A) < 10,000 (B) < 20,000 

(C) < 30,000 (D) < 40,000 

 AWdm 
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13. (a) KLB Ltd. forfeited 3,000 shares of 10 each, < 8 per share called 

up for non-payment of first call of < 2 per share. All these shares 

were reissued at < 7 per share, < 8 paid up. The amount 

transferred to Capital Reserve Account will be : 1 

(A) < 18,000 (B) < 24,000 

(C) < 15,000 (D) < 3,000 

 OR 

(b) NUK Ltd. forfeited 1,000 shares of < 10 each, fully called up for 

non-payment of final call of < 2 per share. 800 of these shares 

were reissued at < 11 per share fully paid. The amount credited to 

Capital Reserve Account will be : 1 

(A) < 6,400  (B) < 8,000  

(C) < 7,200 (D) < 10,000 

14. The debentures which do not carry a specific rate of interest are called : 1 

(A) Zero Coupon Rate Debentures 

(B) Specific Coupon Rate Debentures  

(C) Unsecured Debentures 

(D) Secured Debentures 

15. (a) Nicku, Mala and Ritu were partners in a firm sharing profits in 

the ratio of 5 : 3 : 2. Nicku died on 30th September, 2023. The 

deceased partner was entitled to his share of profit up to the date 

of death which was to be calculated on the basis of previous year  

profit. < 80,000. Nicku s share of 

profit will  be : 1 

(A) < 10,000 (B) < 20,000 

(C) < 30,000 (D) < 40,000 

 OR 
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(I) {Z{Ib, AéU VWm _mZgr EH$ \$_© _| gmPoXma Wo VWm 4 : 3 : 3 Ho$ AZwnmV _| 
bm^-hm{Z H$m {d^mOZ H$aVo Wo &  1 Aà¡b, 2023 go CÝhm|Zo {ZU©` {b`m {H$ 
bm^-hm{Z H$m {d^mOZ 5 : 3 : 2 Ho$ AZwnmV _| hmoJm & bm^-{d^mOZ AZwnmV _| 
n[adV©Z Ho$ H$maU _mZgr H$m A{Ybm^ `m Ë`mJ hmoJm :    1 

(A) A{Ybm^ 
10
1  (B) Ë`mJ 

10
3  

(C) Ë`mJ 
10
1  (D) A{Ybm^ 

10
3  

16. (H$)  ho_m VWm Vmam EH$ \$_© _| gmPoXma Wo VWm 2 : 3 Ho$ AZwnmV _| bm^-hm{Z H$m 

{d^mOZ H$aVo Wo & CÝhm|Zo AmoOg H$mo EH$ ZE gmPoXma Ho$ ê$n _| àdoe {X`m & ho_m 

Zo AnZo ^mJ H$m 
3
1  VWm Vmam Zo AnZo ^mJ H$m 

2
1  AmoOg Ho$ {bE Ë`mJ {H$`m & 

ho_m, Vmam VWm AmoOg H$m Z`m bm^-{d^mOZ AZwnmV hmoJm : 1 

(A) 8 : 9 : 13 (B) 3 : 2 : 5 

(C) 2 : 3 : 5 (D) 2 : 3 : 25 

 AWdm 

(I) Amamoh, ŵdZ VWm Mmé EH$ \$_© _| gmPoXma Wo VWm 1 : 2 : 6 Ho$ AZwnmV _|  
bm^-hm{Z H$m {d^mOZ H$aVo Wo & Mmé H$s _¥Ë ẁ hmo JB© & Amamoh VWm ^wdZ Zo Mmé 
Ho$ ^mJ H$mo 2 : 1 Ho$ AZwnmV _| A{YJ«{hV {H$`m & Mmé H$s _¥Ë ẁ Ho$ ~mX Amamoh 
VWm ŵdZ Ho$ ~rM Z`m bm^-{d^mOZ AZwnmV hmoJm :   1 

(A) 2 : 1 (B) 1 : 2  

(C) 5 : 4 (D) 4 : 5 

17. Am[a`m, ~rZy VWm bmam EH$ \$_© _| gmPoXma Wt VWm 4 : 3 : 3 Ho$ AZwnmV _| bm^-hm{Z 

H$m {d^mOZ H$aVr Wt & 30 OyZ, 2023 H$mo bmam H$s _¥Ë ẁ hmo J`r & _¥Ë ẁ H$s {V{W VH$ 

\$_© Ho$ bm^m| _| bmam Ho$ ^mJ H$s JUZm {dH«$` Ho$ AmYma na H$s OmEJr & df©  

2022  23 _| {dH«$` < 20,00,000 VWm 1 Aà¡b, 2023 go 30 OyZ, 2023 VH$ {dH«$` 

< 4,00,000 Wm &  31 _mM©, 2023 H$mo g_má hþE df© H$m bm^ < 5,00,000 Wm & _¥Ë`w 

H$s {V{W VH$ bm^ _| bmam Ho$ ^mJ H$s JUZm H$s{OE VWm \$_© H$s nwñVH$m| _| Amdí`H$ 

amoµOZm_Mm à{d{ï> H$s{OE & AnZo H$m`© H$mo ñnîQ>Vm go Xem©BE & 3 
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(b) Nikhil, Arun and Mansi were partners in a firm sharing profits 
and losses in the ratio of 4 : 3 : 3. With effect from 1st April, 2023, 
they decided to share profits and losses in the ratio of 5 : 3 : 2. Due 
to change in the profit s gain or sacrifice will 
be :  1 

(A) Gain 
10
1   (B)  Sacrifice 

10
3  

(C) Sacrifice 
10
1    (D) Gain 

10
3   

16. (a) Hema and Tara were partners in a firm sharing profits and losses 

in the ratio of 2 : 3. They admitted Ojas as a new partner. Hema 

surrendered 
3
1 rd of her share and Tara surrendered 

2
1  of her share 

in favour of Ojas. The new profit sharing ratio of Hema, Tara and 

Ojas will be : 1 

(A) 8 : 9 : 13 (B) 3 : 2 : 5 

(C) 2 : 3 : 5 (D) 2 : 3 : 25 

 OR 
(b) Aaroh, Bhuvan and Charu were partners in a firm sharing profits 

and losses in the ratio of 1 : 2 : 6. Charu died. Aaroh and Bhuvan 
acquired C

 1 

(A) 2 : 1 (B) 1 : 2 

(C) 5 : 4  (D) 4 : 5 

17. Aaria, Beenu and Clara were partners in a firm sharing profits and 
losses in the ratio of 4 : 3 : 3. On 30th 
share in the profits of the firm till the date of death was to be calculated 
on the basis of sales. Sales during the year 2022  23 were < 20,00,000 
and sales from 1st April, 2023 to 30th June, 2023 were < 4,00,000. The 
profit for the year ended 31st March, 2023 was < 5,00,000. Calculate 

s share of profit up to the date of death and pass the necessary 
journal entry for the same in the books of the firm. Show your workings 
clearly. 3 
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18. [a{e Am¡a gw_Z EH$ \$_© _| gmPoXma Wo & CZH$s ny±Or Wr : [a{e < 1,20,000 VWm gw_Z  
< 80,000 &  Bgr àH$ma Ho$ ì`dgm` _| à{V\$b H$s gm_mÝ` Xa 12% h¡ & {nN>bo Mma dfm] 
Ho$ bm^ Wo :   

   df©     < 
2019  20        33,000  
2020  21        22,000 
2021  22        31,000 
2022  23        34,000 

 \$_© H$s »`m{V H$s JUZm {ZåZ{b{IV AmYmam| na H$s{OE : 3 
(i) {nN>bo Mma dfm] Ho$ Am¡gV bm^ Ho$ VrZ dfm] H$m H«$` & 
(ii) A{Ybm^ H$m ny±OrH$aU & 

19. (H$) gw_r {b{_Q>oS> Zo n§S>moam {b{_Q>oS> go < 8,00,000 H$s n[agån{Îm`m| VWm 
< 2,00,000 Ho$ {d{dY boZXmam| H$m A{YJ«hU < 9,00,000 Ho$ H«$` _yë` na 
{H$`m & ŵJVmZ < 4,60,000 H$m EH$ M¡H$ {ZJ©{_V H$aHo$ VWm eof Ho$ {bE  
< 100 àË òH$ Ho$ 9% G$UnÌm| H$m {ZJ©_Z 10% àr{_`_ na H$aHo$ {H$`m J`m &  

  Cn ẁ©º$ boZXoZm| Ho$ {bE gw_r {b{_Q>oS> H$s nwñVH$m| _| Amdí`H$ amoµOZm_Mm à{dpîQ>`m±  
H$s{OE & 3 

 AWdm
 (I) Jw§S>mobm {b{_Q>oS> Zo EHo$ {b{_Q>oS> go < 9,00,000 H$s n[agån{Îm`m| VWm 

< 3,00,000 H$s Xò VmAm| H$m A{YJ«hU < 14,00,000 Ho$ gh_V H«$` _yë` na 
{H$`m & ŵJVmZ < 5,00,000 Ho$ EH$ ~¢H$ S´>mâQ> Ûmam VWm eof Ho$ {bE 10% H$s 
N>yQ> na 8% G$UnÌm| Ho$ {ZJ©_Z Ûmam {H$`m J`m & 

  Cn ẁ©º$ boZXoZ Ho$ {bE Jw§S>mobm {b{_Q>oS> H$s nwñVH$m| _| Amdí`H$ amoµOZm_Mm 
à{dpîQ>`m± H$s{OE & 3 

20. (H$) {_em VWm {àem EH$ \$_© _| gmPoXma Wt VWm 3 : 2 Ho$ AZwnmV _| bm^-hm{Z H$m 
{d^mOZ H$aVr Wt & 1 Aà¡b, 2022 H$mo CZHo$ ny±Or ImVo H«$_e: < 50,000 VWm 
< 30,000 Ho$ eof Xem© aho Wo & df© Ho$ Xm¡amZ {_em Zo < 12,900, O~{H$ {àem Zo 
< 9,600 H$m AmhaU {H$`m & CÝh| 10% dm{f©H$ Xa go ny±Or na ã`mO AZw_V {H$`m 
J`m Wm & {_em Ho$ AmhaU na < 660 H$m ã`mO VWm {àem Ho$ AmhaU na < 540 
H$m ã`mO à^m[aV {H$`m J`m & 1 AJñV, 2022 H$mo {àem Zo \$_© H$mo < 20,000 
H$m G$U {X`m & 31 _mM©, 2023 H$mo g_má hþE df© H$m ewÕ bm^ < 22,600  
Wm &  

  31 _mM©, 2023 H$mo g_má hþE df© H$m bm^-hm{Z {d{Z`moJ ImVm V¡`ma H$s{OE & 3 

 AWdm 
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18. Rishi and Suman were partners in a firm. Their capitals were : Rishi
< 1,20,000 and Suman < 80,000. The normal rate of return in similar 
business is 12%. The profits of the last four years were : 

   Year    < 

2019  20  33,000  

2020  21  22,000 

2021  22  31,000 

2022  23   34,000 

 Calculate goodwill of the firm based on : 3 

(i) Three years  purchase of the last four years  average profits. 
(ii) Capitalisation of super profit.   

19. (a) Sumi Ltd. acquired assets of < 8,00,000 and took over sundry 
creditors of < 2,00,000 from Pandora Ltd. for a purchase 
consideration of < 9,00,000. The payment was made by issuing a 
cheque of < 4,60,000 and remaining by issue of 9% Debentures of 
< 100 each at a premium of 10%.  

  Pass necessary journal entries for the above transactions in the 
books of Sumi Ltd. 3 

  OR 
(b) Gundola Ltd. took over assets of < 9,00,000 and liabilities of         

< 3,00,000 from AK Ltd. for an agreed purchase consideration of  
< 14,00,000. The payment was made through a bank draft of  
< 5,00,000 and the remaining by issue of 8% Debentures at a 
discount of 10%.  

 Record necessary journal entries in the books of Gundola Ltd. for 
the above transactions.  3 

20. (a) Misha and Prisha were partners in a firm sharing profits and 
losses in the ratio of 3 : 2. On 1st April, 2022, their capital accounts 
showed balances of < 50,000 and < 30,000 respectively. During 
the year, Misha withdrew < 12,900 while Prisha withdrew  
< 9,600. They were allowed interest on capital @ 10% p.a. Interest 
on drawings of < 660 was charged on Mis < 540 

s drawings. Prisha had advanced a loan of < 20,000 to 
the firm on 1st August, 2022. The net profit for the year ended  
31st March, 2023 amounted to < 22,600.  

  Prepare Profit and Loss Appropriation Account for the year ended 
31st March, 2023.  3 

  OR  
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 (I) 31 _mM©, 2023 H$mo AmhaU d ewÕ bm^ Ho$ gå~ÝY _| g^r Amdí`H$ g_m`moOZ 
H$aZo Ho$ níMmV² amKd VWm {X`m H$s ny±Or H«$_e: < 4,00,000 VWm < 3,00,000 
Wr & ~mX _| `h kmV hþAm {H$ 10% dm{f©H$ Xa go ny±Or na ã`mO Zht {X`m J`m & 
31 _mM©, 2023 H$mo g_má hþE df© H$m ewÕ bm^ < 1,00,000 Wm & 

  31 _mM©, 2023 df© Ho$ Xm¡amZ, amKd Ho$ AmhaU àË òH$ _mh Ho$ Amaå^ _|  
< 2,000, O~{H$ {X`m Ho$ AmhaU àË òH$ {V_mhr Ho$ Amaå^ _| < 3,000 Wo & 
Amdí`H$ g_m`moOZ à{dpîQ> H$s{OE & 3 

21. lr J§Jm {b{_Q>oS> < 10 àË òH$ Ho$ g_Vm A§em|/eo`am| _| {d^º$ < 7,00,000 H$s A{YH¥$V 
ny±Or Ho$ gmW n§OrH¥$V Wr & BgZo OZVm H$mo A{^XmZ Ho$ {bE 50,000 g_Vm A§e/eo`a 
àñVwV {H$E & am{e H$m ŵJVmZ {ZåZ àH$ma go Xo` Wm : 
 AmdoXZ na  : < 4 à{V A§e/eo`a  
 Am~§Q>Z na  : < 4 à{V A§e/eo`a 
 àW_ Ed§ A§{V_ `mMZm na : eof 

{ZJ©_ nyU© ê$n go A{^XÎm hþAm & 4,000 g_Vm A§em|/eo`am| na àW_ Ed§ A§{V_ `mMZm 
am{e Ho$ A{V[aº$ g^r am{e`m± {d{YdV² àmá hmo JBª & 
H$ånZr A{Y{Z`_, 2013 H$s AZwgyMr III, ^mJ I Ho$ AZwgma H$ånZr Ho$ pñW{V {ddaU _| 
A§e/eo`a ny±Or H$mo Xem©BE & Bgr Ho$ {bE ImVm| Ho$ ZmoQ²>g  ^r V¡̀ ma H$s{OE & 4 

22. \«¢$H$, Om°O© VWm ho_ÝV EH$ \$_© _| gmPoXma Wo VWm 5 : 3 : 2 Ho$ AZwnmV _| bm^m| H$m 
{d^mOZ H$aVo Wo &  1 Aà¡b, 2023 go CÝhm|Zo bm^-{d^mOZ AZwnmV H$mo 2 : 5 : 3 _| 
n[ad{V©V H$aZo H$m {ZU©` {b`m & 31 _mM©, 2023 H$mo CZH$m pñW{V {ddaU {ZåZ àH$ma  
Wm : 

31 _mM©, 2023 H$mo \«¢$H$, Om°O© VWm ho_ÝV H$m pñW{V {ddaU   

Xo`VmE± 
am{e  
(<) 

n[agån{Îm`m± 
am{e  
(<) 

ny±Or :  ŷ   5,00,000 
\«¢$H$$     4,00,000  ^dZ 3,00,000 
Om°O©     3,00,000   2,00,000 
ho_ÝV    2,00,000 9,00,000 ñQ>m°H$ 1,50,000 

boZXma  5,00,000 XoZXma 2,50,000 
H$_©Mmar ^{dî` {Z{Y 1,00,000  3,00,000 
gm_mÝ` g§M` 2,00,000   

 17,00,000  17,00,000 
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(b) On 31st March, 2023, the capitals of Raghav and Diya stood at  
< 4,00,000 and < 3,00,000 respectively, after the necessary 
adjustment in respect of drawings and net profit. Subsequently, it 
was discovered that interest on capital @ 10% p.a had been 
omitted. The Net Profit for the year ended 31st March, 2023 
amounted to < 1,00,000. 

 During the year ended 31st s drawings were 
< 2,000 drawn at the beginning of each month, while Diya s 
drawings were < 3,000 drawn at the beginning of each quarter. 
Pass the necessary adjustment entry. 3 

21. Shri Ganga Ltd. was registered with an authorised capital of < 7,00,000 
divided into equity shares of < 10 each. It offered to the public for 
subscription 50,000 equity shares. The amount was payable as follows :  

  On application : < 4 per share 

  On allotment : < 4 per share 

  On first and final call : Balance 
 The issue was fully subscribed. All the amounts were duly received 

except the first and final call money on 4,000 equity shares. 
 Show the Share Capital in the Balance Sheet of the company as per 

Schedule III, Part I of the Companies Act, 2013. Also prepare Notes to 
Accounts  for the same.    4 

22. Frank, George and Hemant were partners in a firm sharing profits in the 
ratio of 5 : 3 : 2. They decided to change their profit sharing ratio to         
2 : 5 : 3 with effect from 1st April, 2023. Their Balance Sheet as at  
31st March, 2023 was as follows : 

Balance Sheet of Frank, George and Hemant as at 31st March, 2023 

Liabilities 
Amount  

(<) Assets 
Amount  

(<) 

Capitals :  Land  5,00,000 
           Frank          4,00,000  Building 3,00,000 
          George          3,00,000  Machinery 2,00,000 
        Hemant          2,00,000 9,00,000 Stock 1,50,000 
Creditors 5,00,000 Debtors 2,50,000 

und 1,00,000 Cash 3,00,000 
General Reserve 2,00,000   
 17,00,000  17,00,000 
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 `h {ZU©` {b`m J`m {H$ :  

(i) ŷ{_ Ho$ _yë` _| d¥{Õ hþB© Am¡a Bgo < 6,50,000 VH$ bm`m OmE & 

(ii) \$_© H$s »`m{V H$m _yë`m§H$Z < 2,00,000 {H$`m J`m & »`m{V H$mo \$_© H$s nwñVH$m| 
_| Zht Xem©`m OmEJm & 

\$_© H$s nwñVH$m| _| Amdí`H$ amoµOZm_Mm à{dpîQ>`m± H$s{OE & 4 

23. A^`, {~H«$_ VWm {H«$g EH$ \$_© _| gmPoXma Wo VWm bm^-hm{Z H$m {d^mOZ ~am~a-~am~a 
H$aVo Wo &  31 _mM©, 2023 H$mo CÝhm|Zo AnZr gmPoXmar \$_© H$mo {dK{Q>V H$aZo H$m {ZU©` 
{b`m & {dKQ>Z H$s {V{W na \$_© H$m pñW{V {ddaU {ZåZ àH$ma Wm :  

31 _mM©, 2023 H$mo A^`, {~H«$_ VWm {H«$g H$m pñW{V {ddaU   

Xo`VmE± 
am{e  
(<) n[agån{Îm`m± 

am{e  
(<) 

ny±Or :  g§ §̀Ì Ed§ _erZar 80,000 

   A^`      68,000  \$ZuMa 45,000 

   {~H«$_   1,00,000  _moQ>a H$ma 1,25,000 
   {H«$g      77,000 2,45,000 ñQ>m°H$ 30,000 

boZXma  1,20,000 XoZXma 70,000 

   15,000 

 3,65,000  3,65,000 

 {ZåZ{b{IV gyMZm CnbãY h¡ :   

(i) g§ §̀Ì Ed§ _erZar H$mo A^` Zo < 75,000 Ho$ gh_V _yë` na bo {b`m & 

(ii) \$ZuMa go < 40,000 H$s dgybr hþB© & 

(iii) _moQ>a H$ma H$mo {~H«$_ Zo < 1,30,000 na bo {b`m & 

(iv) XoZXmam| go 10% H$_ dgybr hþB© & 

(v) ñQ>m°H$ H$m 10% {H«$g Ûmam < 4,500 _| bo {b`m J`m & eof ñQ>m°H$ H$mo < 30,000 
_| ~oM {X`m J`m & 

(vi) dgybr ì`` < 5,000 Wo &  

dgybr ImVm V¡`ma H$s{OE & 6 
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 It was decided that : 

(i) The value of land having appreciated be brought up to < 6,50,000. 

(ii) Goodwill of the firm was valued at < 2,00,000. Goodwill was not to 
appear in the books of the firm.  

Pass the necessary journal entries in the books of the firm. 4 

23. Abhay, Bikram and Chris were partners in a firm sharing profits and 

losses equally. They decided to dissolve their partnership firm on  

31st March, 2023. s Balance Sheet on the date of dissolution was 

as follows : 

Balance Sheet of Abhay, Bikram and Chris as at 31st March, 2023 

Liabilities 
Amount  

(<) Assets 
Amount  

(<) 

Capital :  
Plant and 
Machinery  

 
80,000 

    Abhay         68,000  Furniture 45,000 

    Bikram    1,00,000  Motor Car 1,25,000 
    Chris          77,000 2,45,000 Stock 30,000 

Creditors 1,20,000 Debtors 70,000 

  Cash at Bank 15,000 

 3,65,000  3,65,000 

 The following information is available : 

(i) Plant and Machinery was taken over by Abhay at an agreed 
valuation of < 75,000. 

(ii) Furniture realised < 40,000.  

(iii) Motor car was taken over by Bikram for < 1,30,000.  

(iv) Debtors realised 10% less.  

(v) 10% of the stock was taken over by Chris for < 4,500. The 
remaining stock was sold for < 30,000.  

(vi) Realisation expenses amounted to < 5,000. 

Prepare Realisation Account. 6 



666 

67/3/1-13 Page 22 of 39 

24. 1 Aà¡b, 2022 < 500 àË òH$ Ho$ 10,000, 7% G$UnÌm| H$mo 
10%  àr{_`_ na {ZJ©{_V {H$`m, {OZH$m emoYZ nm±M dfm] Ho$ níMmV² 5% àr{_`_ na {H$`m 
OmEJm & {ZJ©_Z go nyd© H$ånZr Ho$ à{V ŷ{V àr{_`_ ImVo  _| < 1,50,000 H$m eof Wm &   

(H$) G$UnÌm| Ho$ {ZJ©_Z VWm G$UnÌm| Ho$ {ZJ©_Z na hm{Z  H$mo à{V^y{V àr{_`_ ImVo 
H$m Cn`moJ àW_ df© Ho$ A§V _| hr H$aVo hþE An{b{IV H$aZo Ho$ {bE Amdí`H$ 
amoµOZm_Mm à{dpîQ>`m± H$s{OE & 

(I) 31 _mM©, 2023 H$mo g_má hþE df© Ho$ {bE G$UnÌm| Ho$ {ZJ©_Z na hm{Z ImVm  
V¡`ma H$s{OE &   6 

25. (H$) A§em|/eo`am| Ho$ haU (forfeit) VWm nwZ{Z©J©_Z Ho$ {bE {ZåZ{b{IV pñW{V`m| _| 
Amdí`H$ amoµOZm_Mm à{dpîQ>`m± H$s{OE : 6 
(i) ZrAm°Z {b{_Q>oS> Zo < 10 àË òH$ Ho$, 2,000 A§em|/eo`am| H$mo, {OÝh|  

< 2 à{V A§e/eo`a àr{_`_ na {ZJ©{_V {H$`m J`m Wm, < 5 à{V 
A§e/eo`a (àr{_`_ g{hV) Am~§Q>Z am{e H$m ŵJVmZ Z H$aZo na, haU 
(forfeit) H$a {b`m &  < 2 à{V A§e/eò a H$s àW_ Ed§ A§{V_ `mMZm 
A^r VH$ _m±Jr Zht JB© Wr & BZ_| go < 1,500 A§em|/eo`am| H$mo < 7 à{V 
A§e/eo`a, < 8 àXÎm na nwZ: {ZJ©{_V H$a {X`m J`m & 

(ii) __Vm {b{_Q>oS> Zo < 10 àË òH$ Ho$ 3,000 A§em|/eo`am| H$m, {OZ na  
< 3 à{V A§e/eo`a H$s àW_ `mMZm am{e àmá Zht hþB© Wr, haU 
(forfeit) H$a {b`m &  < 1 à{V A§e/eo`a H$s {ÛVr` VWm A§{V_ `mMZm 
A^r _m±Jr Zht JB© Wr & BZ_| go, 2,000 A§em|/eo`am| H$mo < 9 à{V 
A§e/eo`a, < 9 àXÎm nwZ: {ZJ©{_V H$a {X`m J`m &  

 AWdm 
(I) gmB© {b{_Q>oS> Zo < 10 àË òH$ Ho$ 60,000 A§em|/eo`am| H$mo {ZJ©{_V H$aZo Ho$ {bE 

AmdoXZ Am_§{ÌV {H$E & am{e {ZåZ àH$ma go Xo` Wr :  
  AmdoXZ na   < 5 à{V A§e/eo`a 
  Am~§Q>Z na   < 1 à{V A§e/eo`a 
  àW_ Ed§ A§{V_ `mMZm na  eof 

 58,000 A§em|/eo`am| Ho$ {bE AmdoXZ àmá hþE & aOV Zo, Omo 300 A§em|/eo`am| H$m 
YmaH$ Wm, Am~§Q>Z am{e H$m ŵJVmZ Zht {H$`m VWm D$fm Zo, Omo 500 A§em|/eò am| 
H$s YmaH$ Wr, AnZr g_ñV A§e/eò a am{e H$m ŵJVmZ Am~§Q>Z am{e Ho$ gmW H$a 
{X`m & aOV Ho$ A§em|/eo`am| H$m Am~§Q>Z Ho$ Vwa§V ~mX haU (forfeit) H$a {b`m  
J`m & àW_ Ed§ A§{V_ `mMZm CgHo$ ~mX _m±Jr JB© Am¡a {d{YdV² àmá hmo JB© & 

 Cn ẁ©º$ boZXoZm| Ho$ {bE Amdí`H$ amoµOZm_Mm à{dpîQ>`m± H$s{OE & 

 Ohm± Amdí`H$ hmo, AXÎm `mMZm ImVm  Ed§ A{J«_ `mMZm ImVm  Imo{bE & 6 
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24. On 1st April, 2022, Helloix Ltd. issued 10,000, 7% Debentures of < 500 
each at a premium of 10%, redeemable at a premium of 5% after five 
years. The company had a balance of < 1,50,000 in the Securities 
Premium Account  before the issue. 
(a) Pass necessary journal entries for issue of debentures and for 

Loss on I  utilising Securities 
Premium Account at the end of the first year itself. 

(b) Prepare oss on Issue of Debentures Account  for the year ended 
31st March, 2023. 6 

25. (a) Pass necessary journal entries for forfeiture and reissue of shares 
in the following cases :  6 

(i) Neon Ltd. forfeited 2,000 shares of < 10 each issued at a 
premium of < 2 per share for non-payment of allotment 
money of < 5 per share (including premium). The first  
and final call of < 2 per share was not yet made. Out of 
these, 1,500 shares were reissued at < 7 per share, < 8 paid 
up. 

(ii) Mamta Ltd. forfeited 3,000 shares of < 10 each on which the 
first call of < 3 per share was not received. The second and 
final call of < 1 per share was not yet called. Out of these, 
2,000 shares were reissued at < 9 per share, < 9 paid up. 

  OR  

(b) Sai Ltd. invited applications for issuing 60,000 shares of < 10 
each. The amount was payable as follows : 
 On application  < 5 per share 
 On allotment  < 1 per share 
 On first and final call  Balance  

 Applications were received for 58,000 shares. Rajat, the holder of  
300 shares, did not pay allotment money and Usha, the holder of  
500 shares, paid her entire share money along with allotment 
money. Rajat s shares were forfeited immediately after allotment. 
First and final call was made afterwards and duly received. 

 Pass necessary journal entries for the above transactions.  
 Open alls-in-arrears  and alls-in-advance  Account, wherever 

required.   6 
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26. (H$) gmamh VWm dfm© EH$ \$_© _| gmPoXma Wt VWm 3 : 2 Ho$ AZwnmV _| bm^-hm{Z H$m 

{d^mOZ H$aVr Wr§ &  31 _mM©, 2023 H$mo CZH$m pñW{V {ddaU {ZåZ àH$ma Wm :  

31 _mM©, 2023 H$mo gmamh VWm dfm© H$m pñW{V {ddaU  

Xo`VmE± am{e  
(<) 

n[agån{Îm`m±     am{e  
     (<) 

ny±Or :  g§ §̀Ì Ed§ _erZar 2,00,000 

      gmamh       60,000  ñQ>m°H$ 30,000 
      dfm©         50,000 1,10,000 XoZXma                  50,000  

H$_©Mmar j{Vny{V© H$mof 20,000 
KQ>m  g§{X½Y G$Um|      
Ho$ {bE àmdYmZ     5,000 

 
45,000 

^{dî` {Z{Y  1,20,000  25,000 

boZXma 50,000   

 3,00,000  3,00,000 

1 Aà¡b, 2023 H$mo CÝhm|Zo bm^m| _| 
4
1  ^mJ Ho$ {bE Vmem H$mo EH$ ZE gmPoXma Ho$ ê$n _| 

{ZåZ{b{IV eVm] na \$_© _| àdoe XoZo H$m {ZU©` {b`m :  

(i) Vmem < 40,000 AnZr ny±Or Ho$ ê$n _| VWm < 20,000 »`m{V àr{_`_ Ho$ 

ê$n _| bmEJr &  

(ii) g§ §̀Ì Ed§ _erZar H$m < 1,90,000 na _yë`m§H$Z {H$`m J`m &  

(iii) < 20,000 H$s EH$ _X Omo boZXmam| _| gpå_{bV h¡, {Og na {H$gr Xmdo 

H$s g§̂ mdZm Zht h¡, Cgo An{b{IV H$a {X`m OmE &  

(iv) ZB© \$_© _| gmPoXmam| H$s ny±Or Vmem H$s ny±Or Ho$ AmYma na ZE bm^ {d^mOZ 

AZwnmV _| hmoJr VWm O¡gr ^r pñW{V hmo  bmH$a AWdm CgH$m ŵJVmZ 

H$aHo$ & 

nwZ_y©ë`m§H$Z ImVm VWm gmPoXmam| Ho$ ny±Or ImVo V¡`ma H$s{OE & 6 

 AWdm 
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26. (a) Sarah and Varsha were partners in a firm sharing profits 

and losses in the ratio of 3 : 2. Their Balance Sheet as at  

31st March, 2023 was as follows :  

Balance Sheet of Sarah and Varsha as at 31st March, 2023 

Liabilities 
Amount  

(<) Assets 
Amount  

(<) 

Capital :  Plant and Machinery 2,00,000 

     Sarah         60,000  Stock 30,000 
    Varsha        50,000 1,10,000 Debtors                   50,000  

Workmen s 
Compensation Fund 

 
20,000 

Less : Provision  
for doubtful debts    5,000 

 
45,000 

Provident Fund 1,20,000 Cash  25,000 

Creditors 50,000   

 3,00,000  3,00,000 

 On 1st April, 2023, they decided to admit Tasha as a new partner 

for 
4
1 th share in the profits of the firm on the following terms : 

(i) Tasha brought < 40,000 as her capital and < 20,000 as her 

share of premium for goodwill. 

(ii) Plant and Machinery was valued at <1,90,000. 

(iii) An item of < 20,000, included in creditors, is not likely to be 

claimed and should be written off. 

(iv) Capitals of the partners in the new firm are to be in the new 

profit shar s capital, by 

bringing or paying off cash, as the case may be.  

Prepare Revaluation Account and P  Capital Accounts.  6 

  OR  
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(I) BÝXa, Om°Zr VWm H${nb EH$ \$_© _| gmPoXma Wo VWm bm^-hm{Z H$m {d^mOZ 

9 : 3 : 4 Ho$ AZwnmV _| H$aVo Wo &  31 _mM©, 2023 H$mo CZH$m pñW{V {ddaU 
{ZåZ àH$ma Wm :  

31 _mM©, 2023 H$mo BÝXa, Om°Zr VWm H${nb H$m pñW{V {ddaU  

Xo`VmE± 
am{e  
(<) 

n[agån{Îm`m± 
    am{e  
     (<) 

ny±Or :  ñWm`r n[agån{Îm`m± 1,20,000 

      BÝXa     90,000  ñQ>m°H$ 60,000 

      Om°Zr      75,000  XoZXma 1,00,000 

     H${nb     60,000 2,25,000  35,000 

gm_mÝ` g§M` 80,000   

boZXma 10,000   

 3,15,000  3,15,000 

 31 _mM©, 2023 H$mo H${nb {ZåZ{b{IV eVm] na \$_© go godm{Zd¥Îm hmo J`m :  

(i) < 5,000 Ho$ Sy>~V G$Um| H$mo An{b{IV {H$`m OmEJm &  

(ii) ñWm`r n[agån{Îm`m| H$m nwZ_y©ë`m§H$Z < 96,000 {H$`m J`m & 

(iii) ñQ>m°H$ H$m _yë`m§H$Z < 29,000 H$_ {H$`m J`m &  

(iv) boZXmam| H$m ŵJVmZ H$a {X`m J`m &  

(v) \$_© H$s »`m{V H$m _yë`m§H$Z < 80,000 {H$`m J`m VWm »`m{V _| H${nb 

Ho$ ^mJ H$m g_m`moOZ BÝXa VWm Om°Zr Ho$ ImVm| _| {H$`m J`m &  

(vi) BÝXa Am¡a Om°Zr H$m Z`m bm^ {d^mOZ AZwnmV 3 : 2 Wm & 

H${nb H$s godm{Zd¥{Îm na \$_© H$s nwñVH$m| _| Amdí`H$ amoµOZm_Mm à{dpîQ>̀ m±  

H$s{OE & 6 
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(b) Inder, Jonny and Kapil were partners in a firm sharing profits  

and losses in the ratio of 9 : 3 : 4. Their Balance Sheet as at  

31st March, 2023 was as follows : 

      Balance Sheet of Inder, Jonny and Kapil as at 31st March, 2023 

Liabilities 
Amount  

(<) Assets 
Amount  

(<) 

Capital :  Fixed Assets 1,20,000 

          Inder       90,000  Stock 60,000 

         Jonny       75,000  Debtors 1,00,000 

           Kapil      60,000 2,25,000 Cash 35,000 

General Reserve 80,000   

Creditors 10,000   

 3,15,000  3,15,000 

 Kapil retired from the firm on 31st March, 2023 on the following 

terms : 

(i) Bad Debts amounting to < 5,000 were to be written off. 

(ii) Fixed Assets were revalued at < 96,000.    

(iii) Stock was undervalued by < 29,000. 

(iv) Creditors were paid off. 

(v) Goodwill of the firm was valued at < 

share of goodwill was to be adjusted in the accounts of Inder 

and Jonny. 

(vi) New profit sharing ratio between Inder and Jonny was 3 : 2. 

 Pass the necessary journal entries in the books of the firm on 

Kapil  retirement. 6 
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^mJ I

{dH$ën - I 

({dÎmr` {ddaUm| H$m {díbofU) 

27. EH$ H$ånZr H$m G$U-g_Vm AZwnmV 3 : 2 h¡ & {ZåZ{b{IV _| go H$m¡Z-go boZ-XoZ H$m 
n[aUm_ Bg AZwnmV _| d¥{Õ H$aoJm ?  1 

(A) CYma _mb H$m H«$` 
(B) G$UnÌm| H$m {ZJ©_Z 
(C) g_Vm A§em|/eo`am| H$m {ZJ©_Z 
(D)   

28. I : à{V ŷ{V àr{_`_ ImVo go nyU© àXÎm ~moZg A§em|/eò am| Ho$ {ZJ©_Z  H$m n[aUm_ 
 

 II :  & 

 Cn ẁ©º$ Xmo H$WZm| Ho$ g§X^© _| ghr {dH$ën H$m M`Z H$s{OE :  1 

(A) H$WZ I VWm H$WZ II XmoZm| ghr h¢ & 

(B) H$WZ I VWm H$WZ II XmoZm| µJbV h¢ & 

(C) H$WZ I ghr h¡ VWm H$WZ II µJbV h¡ & 
(D) H$WZ I µJbV h¡ VWm H$WZ II ghr h¡ & $ 

29. (H$)  {ZåZ{b{IV _| go {dÎmr` {ddaUm| Ho$ {díbofU  H$m H$m¡Z-gm gmYZ/VH$ZrH$ {dÎmr` 
pñW{V VWm àMmbZ n[aUm_m| H$s àd¥{Îm Ed§ {Xem H$s Amoa g§Ho$V H$aVr h¡ ? 1 

(A) VwbZmË_H$ {ddaU   

(B) gm_mÝ` AmH$ma {ddaU  
(C) am   
(D) AZwnmV {díbofU 

 AWdm 
(I) _________ {Zînm{XV {H$E OmZo dmbo ì`dgm` H$s J{V{d{Y`m| H$s J{V H$s Amoa 

g§Ho$V H$aVo h¢ &  1 

 (A) ÐdVm AZwnmV   

(B) AmdV© AZwnmV  
(C) G$U-emoYZ j_Vm AZwnmV 

(D) bm^àXVm AZwnmV 
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PART B 
OPTION  I 

(Analysis of Financial Statements) 

27. The Debt-Equity Ratio of a company is 3 : 2. Which of the following 
transactions will result in increase in this ratio ? 1 

(A) Purchase of goods on credit 

(B) Issue of Debentures  

(C) Issue of Equity Shares 

(D) Cash received from Debtors 

28. Statement I : Issue of fully paid bonus shares out of Securities 
Premium Account  will result in inflow of cash.  

 Statement II : Cash withdrawn from bank  will result in inflow of cash.  
 In the context of the above two statements, choose the correct option : 1 

(A) Both statement I and statement II are correct 
(B) Both statement I and statement II are incorrect 
(C) Statement I is correct and statement II is incorrect 
(D) Statement I is incorrect and statement II is correct 

29. (a) Which of the followi A  
indicate the trend and direction of financial position and operating 
results ? 1 

(A) Comparative statements 

(B) Common size statements 

(C) Cash flow analysis 

(D) Ratio analysis 

  OR 
(b) _____________ indicate the speed at which activities of the business 

are being performed. 1 

(A) Liquidity ratios 

(B) Turnover ratios 

(C) Solvency ratios 

(D) Profitability ratios 



666 

67/3/1-13 Page 30 of 39 

30. (H$)  {ZåZ{b{IV _| go H$m¡Z-go boZ-XoZ H$m n[aUm_ àMmbZ J{V{d{Y`m| 

hmoJm ? 1 

(A) {Zdoem| H$s {~H«$s go < 60,000   

(B) _mb H$s {~H«$s go < 94,000 àm{ßV 

(C) < 31,000 Ho$ bm^m§e H$s àm{ßV 

(D) < 3,00,000  

 AWdm 

(I) EH$ {dÎmr` H$ånZr Ûmam bm^m§e H$m ŵJVmZ  H$mo {ZåZ{b{IV _| go {H$g_| dJuH¥$V 

{H$`m OmVm h¡ :   1 

 (A) àMmbZ J{V{d{Y`m±    

(B) {Zdoe J{V{d{Y`m±   

(C) {dÎmr` J{V{d{Y`m± 

(D)  

31. H$ånZr A{Y{Z`_, 2013 H$s AZwgyMr III, ^mJ I Ho$ AZwgma {ZåZ{b{IV _Xm| H$mo H$ånZr 

Ho$ pñW{V {ddaU _| _w»` erf©H$m| VWm Cn-erf©H$m| (`{X H$moB© h¡) _| dJuH¥$V H$s{OE : 3 

(H$) IZZ A{YH$ma 

(I) Iwbo Am¡µOma 

(J) A{J«_ àmßV Am` 

32. {ZåZ{b{IV gyMZm go {Zdoe na àË`m`  H$s JUZm H$s{OE :  3 

{ddaU (<) 

Hw$b n[agån{Îm`m± 22,00,000 

10% G$UnÌ 5,00,000 

Mmby Xò VmE±  2,00,000 

H$a níMmV² ewÕ bm^   7,20,000 

H$a 1,80,000 
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30. (a) Which of the following transactions will result in cash flows from 

operating activities ? 1 

(A) Cash receipts from sale of investments < 60,000  

(B) Cash receipts from sale of goods < 94,000  

(C) Dividend received < 31,000 

(D) Payment of cash for purchase of fixed assets < 3,00,000  

  OR 

(b) 

the following :  1 

(A) Operating Activities 

(B) Investing Activities 

(C) Financing Activities 

(D) Cash and Cash Equivalents 

31. Classify the following items under major heads and sub-heads (if any) in 

the Balance Sheet of the company as per Schedule III, Part I of the 

Companies Act, 2013 : 3 

(a) Mining Rights 

(b) Loose Tools 

(c) Income Received in Advance  

32. From the following information, calculate  3 

Particulars (<) 

Total Assets 22,00,000 

10% Debentures 5,00,000 

Current Liabilities  2,00,000 

Net Profit After Tax   7,20,000 

Tax 1,80,000 
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33. (H$)  31 _mM©, 2023 H$mo hram {b{_Q>oS> Ho$ {ZåZ{b{IV pñW{V {ddaU go VwbZmË_H$ 

pñW{V {ddaU V¡̀ ma H$s{OE : 4 

  31 _mM©, 2023 H$mo hram {b{_Q>oS> H$m pñW{V {ddaU  

{ddaU 
ZmoQ> 
g§. 

31.3.2023   
(<) 

31.3.2022   
(<) 

I  g_Vm Ed§ Xo`VmE± :    
1. A§eYmaH$/eo`aYmaH$$ {Z{Y    
 (H$) A§e/eo`a ny±Or   15,00,000 12,00,000 
2. µJ¡a-Mmby Xo`VmE±±    
 (H$) XrK©H$mbrZ G$U  10,00,000 5,00,000 
3. Mmby Xo`VmE±    
 (H$) ì`mnm[aH$ Xo`  1,00,000 3,00,000 

                        Hw$b  26,00,000 20,00,000 

II  n[agån{Îm`m± :    
1. µJ¡a-Mmby n[agån{Îm`m±    

 
(H$) ñWm`r n[agån{Îm`m±/gån{Îm, 
     g§ §̀Ì Ed§ CnH$aU VWm A_yV© 
     n[agån{Îm`m± 

 
 
 

20,00,000 

 
 

15,00,000 
2. Mmby n[agån{Îm`m±    
     (H$)   ah{V`m (ñQ>m°H$)  1,50,000 1,00,000 
     (I)   ì`mnm[aH$ àmß`  4,50,000 4,00,000 
                        Hw$b  26,00,000 20,00,000 

 AWdm 

(I) {ZåZ{b{IV gyMZm go df© g_m{á 31 _mM©, 2022 VWm 31 _mM©, 2023 Ho$ {bE 

EZHo$ {b{_Q>oS> H$m gm_mÝ` AmH$ma bm^ Ed§ hm{Z {ddaU V¡̀ ma H$s{OE :  4 

{ddaU 31.3.2023 31.3.2022   

àMmbZ go AmJ_      (<) 25,00,000 20,00,000 
Cn^moJ H$s JB© gm_J«r H$s 
bmJV                 (<) 

 
8,00,000 

 
6,00,000 

H$_©Mmar {hVbm^ ì``  (<) 4,00,000 4,00,000 

Am` H$a Xa            % 20 30 
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33. (a) From the following Balance Sheet of Hira Ltd. as at 31st March,

2023, prepare Comparative Balance Sheet :  4 

Balance Sheet of Hira Ltd. as at 31st March, 2023 

Particulars Note 
no. 

31.3.2023   
(<) 

31.3.2022  
(<) 

I  Equity and Liabilities :    
1. Shareholders  Funds    
 (a) Share Capital  15,00,000 12,00,000 
2. Non-Current Liabilities    
 (a) Long-term Borrowings  10,00,000 5,00,000 
3. Current Liabilities    
 (a) Trade Payables  1,00,000 3,00,000 

                        Total  26,00,000 20,00,000 
II  Assets :    
1. Non-Current Assets    

 
  
 
 

(a)  Fixed Assets/Property,  
      Plant and Equipment and 
      Intangible Assets 

 
 
 

20,00,000 

 
 

15,00,000 
2. Current Assets    
     (a)  Inventories  1,50,000 1,00,000 
     (b)  Trade Receivables  4,50,000 4,00,000 
                        Total  26,00,000 20,00,000 

  OR 

(b) From the following information of NK Ltd., prepare a Common 
Size Statement of Profit and Loss for the years ended 31st March, 
2022 and 31st March, 2023 : 4 

Particulars 31.3.2023 31.3.2022 

Revenue from Operations       (<) 25,00,000 20,00,000 

Cost of Materials Consumed   (<) 8,00,000 6,00,000 

Employee Benefit Expenses    (<) 4,00,000 4,00,000 

Income Tax Rate                        % 20 30 
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34. {ZåZ{b{IV gyMZm go {Zdoe J{V{d{Y`m|  H$s JUZm H$s{OE :  6 

{ddaU 
31 _mM©, 2023 

(<) 
31 _mM©, 2022 

(<) 
ßbm§Q> Ed§ _erZar 4,10,000 3,00,000 

»`m{V 1,80,000 80,000 

   

(H$) EH$ _erZ {OgH$s bmJV < 85,000 Wr ({Og na < 15,000 H$m _yë`õmg àXmZ 
{H$`m J`m h¡) < 62,000 _| ~oM Xr JB© & df© Ho$ Xm¡amZ < 48,000 H$m _yë`õmg 
bJm`m J`m &  

(I) {ZåZ{b{IV gyMZm go {dÎmr` J{V{d{Y`m|  H$s JUZm H$s{OE :   

{ddaU 31 _mM©, 2023 
(<) 

31 _mM©, 2022 
(<) 

g_Vm A§e/eò a ny±Or 15,00,000 10,00,000 

~¢H$ A{Y{dH$f© 90,000 1,20,000 

~¢H$ go G$U 7,00,000 6,00,000 

 
 (i) ~¢H$ G$U na < 60,000 Ho$ ã`mO H$m ŵJVmZ {H$`m J`m & 
 (ii) < 1,10,000 Ho$ bm^m§e H$m ŵJVmZ {H$`m J`m & 

^mJ I 
{dH$ën - II 

(A{^H${bÌ boIm§H$Z) 

27. §JR>Zm| Ho$ {bE Cn ẁº$ h¡ VWm {Ogo 
Vm h¡ &  1 

(A) {d{eîQ> (B) OmVr` 
(C) Q>obS>©> (D) (B) VWm (C) XmoZm| 

28. (H$) EH$ J«m\$ _| {d{^ÝZ Ajm| go {Kao joÌ H$mo H$hVo h¢ :  1 

(A) boO|S> 
(B) S>oQ>m nm°B§Q> 
(C) Aj erf©H$ 
(D) ßbm°Q> joÌ 

 AWdm 
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34. Calculate Cash Flows from Investing Activities  from the following 
information : 6 

Particulars 
31st March, 2023 

(<) 
31st March, 2022 

(<) 
Plant and Machinery 4,10,000 3,00,000 

Goodwill 1,80,000 80,000 
 Additional Information : 

(a) A machine costing < 85,000 (depreciation provided thereon  
< 15,000) was sold for < 62,000. Depreciation charged during the 
year amounted to < 48,000. 

(b) Calculate ash Flows From Financing Activities  from the 
following information :  

Particulars 
31st March, 2023  

(<) 
31st March, 2022  

(<) 
Equity Share Capital 15,00,000 10,00,000 

Bank Overdraft 90,000 1,20,000 

Loan from bank 7,00,000 6,00,000 

 Additional Information : 
(i) Interest paid on bank loan amounted to < 60,000. 

(ii) Dividend paid < 1,10,000.  

 
PART B 

OPTION  II 
(Computerised Accounting) 

27. Identify the type of software which is suited for large and medium 
organisations and can be linked to other information systems. 1 

(A) Specific  (B) Generic  
(C) Tailored (D) Both (B) and (C)  

28. (a) In a graph, the area bounded by different axes is known as : 1 
(A) Legend 
(B) Data point 
(C) Axis title 
(D) Plot area 

  OR 
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(I)  {ZåZ{b{IV _| go H$m¡Z-gm {Z{hV  hmoVm h¡ ?   1 

(A) H$m ©̀ nwñVH$mb` (\ B~o«ar) 

(B) n[a^m{fV Zm_ 
(C) JUZm 

(D) n¥îR> A{^Ý`mg  

29. O~ EH$ n§{º$ _| EH$ g_` _| EH$ gob na OmVo ñQ>>a Ho$ nhbo go A§{V_ ^ao hþE 
gob _| OmVo g_` Zo{dJoeZ H¡$go g§Mm{bV {H$`m OmVm h¡ ?  1 

(A) hmo_ + Xm{hZm Vra ( )  
(B) gr Q>r Ama Eb + Xm{hZm Vra ( ) H«${_H$ 
(C) B© EZ S>r + Xm{hZm Vra ( ) 
(D) gr Q>r Ama Eb + B© EZ S>r 

30. (H$) H$m¡Z-gr {V{W VWm g_` H$m ©̀ AmO H$s {V{W VWm g_` Ho$ gmW _yë` H$mo dmng 
H$aVm h¡ ?   1 
(A) Today( )  (B) Day( )  

(C) Now( ) (D) Day time( ) 

 AWdm 

(I) ?   1 

(A) AmYma _yë` (B) D$Üdm©Ya   
(C) ì ẁËnÝZ _yë` (D)  

31. H§$ß ỳQ>arH¥$V boIm§H$Z àUmbr H$s {deofVmAm| Ho$ ê$n _| nmaX{e©Vm VWm {Z`ÝÌU  Am¡a 
ewÕVm VWm J{V  H$mo g_PmBE & 3 

32. nr E_ Q>r   
h¡ ? 3 

33. (H$) A{^H${bÌ boIm§H$Z àUmbr H$s gwajm {deofVmAm| Ho$ ê$n _| nmgdS>© gwajm  VWm 
S>oQ>m A§Ho$jU  H$mo g_PmBE &  4 

 AWdm 

(I) >m ? -go Am¡µOmam| 
(VarH$m|) H$m Cn`moJ {H$`m OmVm h¡ ?  4 
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(b) Which of the following is not contained on formula tab on Excel 
ribbon ? 1 

(A) Function library 

(B) Defined names   

(C) Calculations 

(D) Page layout 

29. How is navigation conducted from the first to the last filled cells of 
clusters when moving one cell at a time in a row ? 1 

(A) Home + Right arrow ( )  

(B) CTRL + Right arrow ( ) successively 

(C) END + Right arrow ( ) 

(D) CTRL + END 

30. (a) 
time ? 1 

(A) Today( )  (B) Day( )  

(C) Now( ) (D) Day time( ) 

  OR 

(b) What is the outcome of an arithmetic expression or function   
called ? 1 

(A) Basic Value (B) Vertical Vector   

(C) Derived Value (D) Horizontal Vector  

31. Speed  as features 
of Computerised Accounting System. 3  

32. State the pa
function ? 3 

33. (a) A
of Computerised Accounting System. 4 

  OR 

(b) What is Data formatting ? What tools are used to format a given 
data ?  4 
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34. 

 

 

  A B C D E F  
 

1 H«$_ g§. Cn^mo½` {dÎmr` df©  
21  22 _| _yë` 

{dÎmr` df©  
23  24 _| _yë` 

   

2 1 go~                 50                 60    

3 2 g§Vam                 20                 40    

4 3 Ho$bm                 60                 80    

5 4 Zt~y                 40                 80    

6 5 XÿY                 53                 60    

7 6 ~«oS> (amoQ>r)                 40                 45    

8 7 AÊS>m                 58                 60    

9        

 -{dÝ`mg Ho$ {bE Aew{Õ VWm BgHo$ H$maU H$m 
nVm bJmBE : 6 

(i) = dr bwH$An (~r1, ~r4 : S>r6, 2, 0) 

(ii) = dr bwH$An (gr2, gr2 : S>r8, 2, 0)  100) 

(iii) = dr bwH$An (~r5, ~r6 : S>r8, 1, 0) 

(iv) = dr bwH$An (~r3, ~r2 : S>r8, 5, 0)  

(v) = dr bwH$An (~r5, ~r3 : S>r8, 0, 0)     

(vi) = dr bwH$An (~r2, ~r2 : S>r7, 2, 0)/0 

 

 

 

 

XTell me what yo
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34. 

 

 

  A B C D E F  
 

1 S. No. Consumables Price in FY 
21  22 

Price in FY 
23  24 

   

2 1 Apple 50 60    

3 2 Orange 20 40    

4 3 Banana 60 80    

5 4 Lemon 40 80    

6 5 Milk 53 60    

7 6 Bread 40 45    

8 7 Egg 58 60    

9        

 Using the worksheet, find out the error and its reason for the given 
syntax : 6 

(i) = VLOOKUP (B1, B4 : D6, 2, 0) 

(ii) = SQRT (VLOOKUP (C2, C2 : D8, 2, 0)  100) 

(iii) = VLOOKUP (B5, B6 : D8, 1, 0) 

(iv) = VLOOKUP (B3, B2 : D8, 5, 0) 

(v) = VLOOKUP (B5, B3 : D8, 0, 0)  

(vi) = VLOOKUP (B2, B2 : D7, 2, 0)/0 

 

XTell me what yo
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MARKING SCHEME 

STRICTLY CONFIDENTIAL 
(FOR INTERNAL AND RESTRICTED USE ONLY) 

SENIOR SCHOOL CERTIFICATE EXAMINATION, 2024 
SUBJECT NAME: ACCOUNTANCY (Subject Code 055) 

QUESTION PAPER CODE 67/3/1 

General Instructions: - 

1 You are aware that evaluation is the most important process in the actual and correct 

assessment of the candidates. A small mistake in evaluation may lead to serious problems 

which may affect the future of the candidates, education system and teaching profession. To 

avoid mistakes, it is requested that before starting evaluation, you must read and understand 

the spot evaluation guidelines carefully 

2 “Evaluation policy is a confidential policy as it is related to the confidentiality of the 

examinations conducted, Evaluation done and several other aspects. Its’ leakage to public in 

any manner could lead to derailment of the examination system and affect the life and 

future of millions of candidates. Sharing this policy/document to anyone, publishing in any 

magazine and printing in News Paper/Website etc may invite action under various rules of 

the Board and IPC.” 

3 Evaluation is to be done as per instructions provided in the Marking Scheme. It should not be 

done according to one’s own interpretation or any other consideration. Marking Scheme 

should be strictly adhered to and religiously followed. However, while evaluating, answers 

which are based on latest information or knowledge and/or are innovative, they may be 

assessed for their correctness otherwise and due marks be awarded to them. 

4 The Marking scheme carries only suggested value points for the answers. These are in the 

nature of Guidelines only and do not constitute the complete answer. The students can have 

their own expression and if the expression is correct, the due marks should be awarded 

accordingly. 

5 The Head-Examiner must go through the first five answer books evaluated by each evaluator 

on the first day, to ensure that evaluation has been carried out as per the instructions given in 

the Marking Scheme. If there is any variation, the same should be zero after deliberation and 

discussion. The remaining answer books meant for evaluation shall be given only after 

ensuring that there is no significant variation in the marking of individual evaluators 

6 Evaluators will mark( √ ) wherever answer is correct. For wrong answer CROSS ‘X” be marked. 

Evaluators will not put right (✓)while evaluating which gives an impression that answer is 

correct and no marks are awarded. This is most common mistake which evaluators are 

committing. 

7 If a question has parts, please award marks on the right-hand side for each part. Marks 

awarded for different parts of the question should then be totaled up and written in the left-

hand margin and encircled. This may be followed strictly 
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8 If a question does not have any parts, marks must be awarded in the left-hand margin and 

encircled. This may also be followed strictly 

9 If a student has attempted an extra question, answer of the question deserving more marks 

should be retained and the other answer scored out with a note “Extra Question”. 

10 No marks to be deducted for the cumulative effect of an error. It should be penalized only 

once. 

11 A full scale of marks 80 has to be used. Please do not hesitate to award full marks if the 

answer deserves it. 

12 Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours every 

day and evaluate 20 answer books per day in main subjects and 25 answer books per day in 

other subjects (Details are given in Spot Guidelines) 

13 Ensure that you do not make the following common types of errors committed by the 

Examiner in the past:- 

● Leaving answer or part thereof unassessed in an answer book. 
● Giving more marks for an answer than assigned to it. 
● Wrong totaling of marks awarded on an answer. 

● Wrong transfer of marks from the inside pages of the answer book to the title page. 

● Wrong question wise totaling on the title page. 

● Wrong totaling of marks of the two columns on the title page. 

● Wrong grand total. 

● Marks in words and figures not tallying/not same. 

● Wrong transfer of marks from the answer book to online award list. 

● Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is   

     correctly and clearly indicated. It should merely be a line. Same is with the X for incorrect  

     answer.) 

● Half or a part of answer marked correct and the rest as wrong, but no marks awarded. 

14 While evaluating the answer books if the answer is found to be totally incorrect, it should be 

marked as cross (X) and awarded zero (0) marks 

15 Any un assessed portion, non-carrying over of marks to the title page, or totaling error 

detected by the candidate shall damage the prestige of all the personnel engaged in the 

evaluation work as also of the Board. Hence, in order to uphold the prestige of all concerned, 

it is again reiterated that the instructions be followed meticulously and judiciously. 

16 The Examiners should acquaint themselves with the guidelines given in the “Guidelines for 

spot Evaluation” before starting the actual evaluation. 

17 Every Examiner shall also ensure that all the answers are evaluated, marks carried over to the 

title page, correctly totaled and written in figures and words. 

18 The candidates are entitled to obtain photocopy of the Answer Book on request on payment 

of the prescribed processing fee. All Examiners/Additional Head Examiners/Head Examiners 

are once again reminded that they must ensure that evaluation is carried out strictly as per 

value points for each answer as given in the Marking Scheme. 
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 PART A 

(ACCOUNTING FOR PARTNERSHIP FIRMS AND COMPANIES) 

 

 

   
1 

(a) Q. Shrikant and Ajay ……………………… 
 
Ans.  (C) -- `1,500 

OR 
 

(b) Q. Abha, Manju and Rhea …………………………. 
 
Ans.  (B) -- `4,500 

 

 
1 
mark 
 
OR 
 
1 
mark 

2 Q. Seema and Laksh ……………………………….. 
 
Ans. (B) -- `2,20,000 
 

 
1 
mark 

3  (a) Q. Lata, Mehu and Namita ……………………… 
 

Ans.  (A) -- `26,000 
OR 

 
(b) Q. Sanya, Sarthak and Nitya …………………………. 

 
Ans. (D) -- `2,52,000 
 

 
1 
mark 
 
OR 
 
1 
mark 
 

4 Q. Geeta and Hari were partners ……………………… 
 
Ans.  (C) -- 2 : 3 
 

 
1 
mark 

5 Q. Manu, Sonu and Rahul were partners ……………………… 
 

Ans.  (A)  
JOURNAL 

Date Particulars L.F. Dr. 
Amount   

( `) 

Cr. 
 Amount        

( `) 

 Workmen Compensation Reserve A/c           Dr. 
     To Workmen Compensation Claim A/c    
     To Manu’s Capital A/c  
     To Sonu’s Capital A/c  
     To Rahul’s Capital A/c 

 84,000 
 

 
75,000 

4,000 
3,000 
2,000 

. 

 
 
1 
mark 

  6 Q. Assertion (A): Partners’ current accounts …………. 
 
Ans. (C) – Assertion (A) is correct, but Reason (R) is not correct. 

 
1 
mark 
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 Read the following hypothetical situation ……………………. 
 

 

7 Q. Sheena’s interest on drawings ……………………… 
 
Ans.  (D) – `2,000 
 

 
1 
mark 

8 Q. Tapti’s share of profit ……………………… 
 
Ans.  (C) -- `10,500 
 

 
1 
mark 

9 Q. Alfa Ltd. offered for public subscription ……………………… 
 
Ans.  (A) --  `52,80,000 
 

 
1 
mark 

10 Q. Assertion (A): When the shares are forfeited …………. 
 
Ans. (A) --  Both Assertion (A) and Reason (R) are correct and Reason (R) is the correct   
                   explanation of Assertion (A). 
 

 
1 
mark 
 

11 Q. Lexa Ltd. issued 50,000 equity shares ……………………… 
 
Ans.  (C) --  credited by `5,000 
 

 
1 
mark 

12 Q. Minimum Subscription for allotment ……………………… 
 
Ans.  (D) -- Issued Capital 
 

 
1 
mark 

13  (a) Q. KLB Ltd. forfeited ……………………… 
 

Ans.  (C) -- `15,000 
OR 

 
(b) Q. NUK Ltd. forfeited ……………………… 

 
Ans. (A) -- `6,400 
 

 
1 
mark 
 
OR 
 
1 
mark 

14 Q. The debentures which do not carry ……………………… 
 
Ans.  (A) -- Zero Coupon Rate Debentures 
 
 

 
1 
mark 

15  (a) Q.  Nicku, Mala and Ritu were partners ……………………… 
 

Ans.  (B) -- `20,000 
 

OR 
 

 
1 
mark 
 
OR 
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(b) Q.  Nikhil, Arun and Mansi were partners ……………………… 
 

Ans. (C) -- Sacrifice 1/10 
 

 
1 
mark 

16  (a) Q.  Hema and Tara were partners ……………………… 
 

Ans.  (A) -- 8 : 9 : 13 
OR 

 
(b) Q.  Aaroh, Bhuvan and Charu were partners ……………………… 

 
Ans. (C) -- 5 : 4 
 

 
1 
mark 
 
OR 
 
1 
mark 

17 Q. Aaria, Beenu and Clara were partners ……………………… 
 
Ans.  

 JOURNAL 

Date Particulars L.F. Dr. 
Amount  ( `) 

Cr. 
Amount ( `) 

2023 
June 30 

Profit and Loss Suspense A/c                 Dr. 
     To Clara’s Capital A/c 
(Clara’s share of profit till date of her 
death credited to her capital account.) 
 

 30,000 
 

 
30,000 

 
Clara’s share of profit = 
                   Last Year Profit   x   Sales in Current Year up to Death   x   Clara’s profit share  
                   Last Year Sales 
 
                   5,00,000   x   4,00,000   x   3 
                   20,00,000                             10 
 
                   ` 30,000  
Note: If an examinee has calculated Clara’s share of profit upto the date of death in any  
           other way, full credit is to be given. 
 

 
 
 
 
 
 
 
 
 
(1½ ) 

 
 
 
 
 
 
 
(1½ ) 

 
 
= 3 
marks 
 

18 Q. Rishi and Suman were partners……………………………….. 
 
Ans.                    Average Profit = 33,000+22,000+31,000+34,000 
                                                                   4 
                                            =   `30,000        
 
          Normal Profit = Normal Rate of Return x Capital Employed 
                                                      100 
          Normal Profit = 12   x   2,00,000  
                                     100 
                           = `24,000  

 
 
 
 
(1/2) 
 
 
 
 
 
(1) 
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         Super Profit = Average Profit – Normal Profit 
                               = 30,000 – 24,000 
                               =   `6,000  
 
         (i)  Goodwill of the firm = Average Profit x Number of Years’ Purchase 
                                              = 30,000 x 3 
                                              = `90,000  
 

          (ii)  Goodwill of the firm = Super Profit x 100  
                                                                                   Normal rate of return 
                                              = 6,000 x 100 
                                                                 12 
                                              = `50,000  
 

 
(1/2) 
 
 
 
 
 
 
(1/2) 
 
 
 
 
 
(1/2) 
 
= 3 
marks 

19 (a) Q. Sumi Ltd. acquired assets ……………………………….. 
 
Ans.                                                            

Books of Sumi Ltd. 
JOURNAL 

Date Particulars L.F. Dr. 
Amount ( `) 

Cr.  
Amount ( `) 

 (i) Sundry Assets A/c                                    Dr.  8,00,000  
      Goodwill A/c                                             Dr.  3,00,000  
         To Sundry Creditors A/c    2,00,000 
          To Pandora Ltd..   9,00,000 
      (Business of Pandora Ltd.. taken over    

       at `9,00,000.)   
   

     

 (ii) Pandora Ltd.                                             Dr.  9,00,000  
         To Bank A/c   4,60,000 
         To 9% Debentures A/c   4,00,000 
         To Securities Premium A/c   40,000 
        (Paid Pandora Ltd. `4,60,000 by   

        cheque and issued 4,000,   
        9% Debentures of `100 each at a  
        premium of 10%.) 
 

   

 Alternative     
     
 (ii) a. Pandora Ltd.                                        Dr.  4,60,000  
             To Bank A/c   4,60,000 
           (Paid Pandora Ltd. `4,60,000 by  

            Cheque.) 
   

  
 

   

 
 
 
 
 
 
 
 
(1) 
 
 
 
 
 
 
 
(2) 
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  (ii) b.  Pandora Ltd.                                      Dr.  4,40,000  
                To 9% Debentures A/c   4,00,000 
                To Securities Premium A/c   40,000 
               (4,000, 9% Debentures of `100   

               each issued at a premium of  
              10%.) 

   

 
                                                                              OR 
(b)  Q. Gundola Ltd. took over assets ……………………………….. 
 
Ans.  

Books of Gundola Ltd. 
JOURNAL 

Date Particulars L.F. Dr. 
Amount ( `) 

Cr.  
Amount ( `) 

 (i)  Sundry Assets A/c                                   Dr.  9,00,000  
       Goodwill A/c                                            Dr.  8,00,000  
           To Sundry Liabilities A/c    3,00,000 
           To AK Ltd.   14,00,000 
        (Business of AK Ltd. taken over at  

         `14,00,000.)   
   

     

 (ii)  AK Ltd.                                                       Dr.  14,00,000  
        Discount on Issue of Debentures A/c  Dr.   1,00,000  
           To Bank A/c   5,00,000 
           To 8% Debentures A/c   10,00,000 
         (Paid AK Ltd. `5,00,000 through a bank  

         draft and issued 10,000 8% Debentures  
         of `100 each at a discount of 10%.) 

   

     

 Alternative    
     
 (ii) a. AK Ltd.                                                    Dr.  5,00,000  
              To Bank A/c   5,00,000 
            (Paid AK Ltd. `5,00,000 by cheque.)    
     
 (ii) b. AK Ltd.                                                    Dr.  9,00,000  
           Discount on Issue of Debentures A/c Dr.   1,00,000  
              To 8% Debentures A/c   10,00,000 
            (10,000, 8% Debentures of `100 each    

             issued at a discount of 10%.) 
   

. 
 
 
 
 
 

 
 
 
  
= 3 
marks 
 
OR 
 
 
 
 
 
 
 
 
(1) 
 
 
 
 
 
 
(2) 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 = 3 
marks 
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20 (a) Q.  Misha and Prisha were partners……………………………….. 
 
Ans.                                         Profit and Loss Appropriation Account 

Dr.                                             for the year ended 31st March 2023                                       Cr. 

Particulars Amount  

(`) 

Particulars Amount  

(`) 
To Interest on Capital                (1) 
      Misha’s Capital               5,000 
      Prisha’s Capital               3,000 
 
To Profit transferred to              (1) 

     Misha’s Capital                9,480 
     Prisha’s Capital                6,320 

 
 

8,000 
 
 
 
 

15,800 

By P&L A/c 
   (Net Profit)                         (1/2) 

 
 
By Interest on Drawings  (1/2) 
     Misha’s Capital            660 
     Prisha’s Capital            540 

22,600 
 
 
 
 
 

1,200 

    

 23,800  23,800 

Note - Interest on Loan is not considered as NET PROFIT is given. 
 

OR 
 

(b) Q.  On 31st March 2023, the capitals …………………………… 
      Ans. 
                 

JOURNAL 

Date Particulars L.F. Dr. 
Amount (`) 

Cr. 
 Amount ( `) 

 Diya’s Capital A/c                                    Dr. 
     To Raghav’s Capital A/c 
(Omission of interest on capital rectified.) 
 

 5,600 
 

 
5,600 

 
Working Notes -  
               Opening Capital = Closing Capital + Drawings – Profit 
                For Raghav, Opening Capital =  4,00,000 + 24,000 – 50,000 
                                                                    = `3,74,000   
                 For Diya, Opening Capital =  3,00,000 + 12,000 – 50,000 
                                                               = `2,62,000  
                  Adjustment Table  

 Raghav Diya 

 Dr (`)  Cr (`) Dr (`)  Cr (`) 

Interest on Capital   37,400  26,200 

Loss   31,800  31,800  

Net Effect  5,600 5,600  

 
Note –If an examinee has passed the correct journal entry without showing the working  
            notes, full credit is to be given. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
3 
marks 
 
 
OR 
 
 
 
 
 
 
 
 
 

(1½ ) 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

(1½ ) 
 
 
 
= 3 
marks 
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21 Q. Shri Ganga Ltd. was registered with an  ……………………………….. 
 
Ans. 
 

 Shri Ganga Ltd. 
         BALANCE SHEET as at …….. (Extract) 

Particulars Note No. Amount ( `) 

 
 

4,92,000 

I EQUITY AND LIABILITIES  

   1. Shareholders’ Funds  

        a. Share Capital                                                                          1 

 
 
Notes to Accounts:  

Particulars Amount (`) 

1. Share Capital  

Authorized Capital  

             70,000 Equity Shares of `10 each                                            7,00,000 

Issued Capital  

              50,000 Equity Shares of `10 each                                             5,00,000 

Subscribed Capital  

Subscribed and Fully Paid Up  

46,000 Equity Shares of `10 each                                                 4,60,000 

  Subscribed but Not Fully Paid Up  

4,000 Equity Shares of `10 each                                    40,000       

Less Calls in Arrears (4,000 x 2)                                        (8,000)       

        32,000 

 4,92,000 
. 

 
 
 
 
 
 
 
 
 
(1) 

 
 
 
 
 
 
 
 
(1/2) 

 
 
(1/2) 

 
 
 
(1) 
 
 
(1/2) 
(1/2) 

 
 
= 4 
marks 

22 Q. Frank, George and Hemant were partners ………………………………… 
 
Ans.                                          

 
Books of Frank, George and Hemant 

JOURNAL 

Date Particulars L.F. Dr.   
Amount ( `) 

Cr.   
Amount ( `) 

2023 General Reserve A/c                                 Dr.  2,00,000  
April 1      To Frank’s Capital A/c    1,00,000 

      To George’s Capital A/c    60,000 
      To Hemant’s Capital A/c    40,000 
 (General reserve transferred to old 

partners’ capital accounts in old ratio.) 
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“ Land A/c                                                    Dr.  1,50,000  
        To Revaluation A/c   1,50,000 
 (Value of land increased by `1,50,000.)    
     

” Revaluation A/c                                          Dr.  1,50,000  
      To Frank’s Capital A/c    75,000 
      To George’s Capital A/c    45,000 
      To Hemant’s Capital A/c    30,000 
 (Gain on revaluation transferred to old 

partners’ capital accounts in old ratio.) 
   

     

” George’s Capital A/c                                  Dr.  40,000  
 Hemant’s Capital A/c                                 Dr.  20,000  
     To Frank’s Capital A/c   60,000 
 (Goodwill adjusted due to change in profit 

sharing ratio.) 
 

   

. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
1 x 4 
= 
4 
marks 

23 Q.  Abhay, Bikram and Chris were partners ……………………….. 
 
Ans. 
 

Dr.                                                              Realisation Account                                                 Cr. 

Particulars Amount 

 (`) 

Particulars Amount  

(`) 
To Sundry Assets t/f:       (1/2)  By Sundry Liabilities t/f:         (1/2)  
  Plant & Machinery   80,000                    Creditors                     1,20,000 1,20,000 
  Furniture                    45,000    
  Motor Car               1,25,000  By Abhay’s Capital A/c (P&M) (1/2)  75,000 
  Stock                           30,000  By Bikram’s Capital A/c (Car)   (1/2) 1,30,000 
  Debtors                       70,000 3,50,000 By Chris’s Capital A/c  (stock) (1/2) 4,500 
    
  By Bank A/c                              (1½ )  
To Bank A/c:                      (1)                                                                 Debtors                63,000  
     Expenses                    5,000                 Stock                    30,000       
     Creditors               1,20 000 1,25,000                Furniture             40,000      1,33,000 
    
  By Loss transferred to Partners’   

      Capital A/c                            (1)                                    
 

                   Abhay                    4,166  
                   Bikram                   4,167  
                   Chris                       4,167 12,500 
    

 4,75,000  4,75,000 
. 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
6 
marks                   
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24 Q.  On 1st April, 2022, Helloix Ltd. ……………………….. 
 
Ans. 

Books of Helloix Ltd. 
 

JOURNAL 

Date Particulars L.F. Dr. 
Amount (`) 

Cr. 
Amount (`) 

2022 a)  Bank A/c                                                          Dr.  55,00,000  
Apr 1        To Debenture Application & Allotment A/c   55,00,000 

      (Application amount received on 10,000,  
       7% Debentures.)                                                     

   

     

“    Debenture Application & Allotment A/c         Dr.  55,00,000  
    Loss on Issue of Debentures A/c                      Dr.  2,50,000  
     To 7% Debentures A/c    50,00,000 
     To Securities Premium A/c                    5,00,000 
     To Premium on Redemption of Debentures A/c   2,50,000 
     (Application amount transferred to        

     debentures a/c, securities premium a/c and  
     provision for premium on redemption of  
     debentures made.)                                                   

   

     

2023   Securities Premium A/c                                     Dr.  2,50,000  
Mar31         To Loss on Issue of Debentures A/c   2,50,000 
     (Loss on issue of debentures written off.)     

 
   

 
 

Dr.                                                  Loss on Issue of Debentures A/c                                                Cr. 
Date Particulars J.F. Amount  

(`) 
Date Particulars J.F. Amount  

(`) 

2022 
April 1 

To Premium on 
Redemption of 
Debentures A/c 

  
 

2,50,000 

2023 
March 31 

By Securities 
Premium A/c     
                  

  
2,50,000 

        

   2,50,000    2,50,000 

. 
 
 

 
 
 
 
 
 
 
 
 
(1) 

 
 
 
 
 
 
(2) 

 
 
 
 
 
 
(1) 

 
 
 
 
 
 
 
 
(2) 
 
 
 
= 6 
marks 

25 (a) Q.  Pass necessary journal entries ……………………………….   
         
Ans. (i) 
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Books of Neon Ltd. 
JOURNAL 

Date Particulars L.F. Dr.  
 Amount ( `) 

Cr.  
 Amount ( `) 

 Share Capital A/c                                          Dr.  16,000  
 Securities Premium A/c                               Dr.  4,000  

        To Share Forfeiture A/c   10,000 
        To Calls in Arrears A/c or                                                            

            Share Allotment A/c 
  10,000 

  (Forfeiture of 2,000 shares for non-   
  payment of allotment of `5 per share.) 

   

     

   Bank A/c                                                      Dr.  10,500  
   Share Forfeiture A/c                                  Dr.  1,500  
       To Share Capital A/c   12,000 
 (Reissue of 1,500 shares at `7 per share, `8 

per share paid up.) 
   

     

  Share Forfeiture A/c                                   Dr.  6,000  
       To Capital Reserve A/c   6,000 
 (Gain on 1,500 reissued shares transferred 

to capital reserve.) 
 

   

     
(ii)                                                  Books of Mamta Ltd. 

JOURNAL 

Date Particulars L.F. Dr.  
 Amount ( `) 

Cr.  
 Amount ( `) 

    Share Capital A/c                                        Dr.  27,000  
         To Share Forfeiture A/c   18,000 
         To Calls in Arrears A/c or                                   

             Share First Call A/c 
  9,000 

 (Forfeiture of 3,000 shares for non-payment 
of first call of `3 per share.) 

   

     

 Bank A/c                                                        Dr.  18,000  
       To Share Capital A/c   18,000 
 (Reissue of 2,000 shares at `9 per share,  

`9 per share paid up.) 
   

     

 Share Forfeiture A/c                                  Dr.  12,000  
       To Capital Reserve A/c   12,000 
 (Gain on 2,000 reissued shares transferred 

to capital reserve.) 
 

   

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
1x3    
=  3 
marks 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
1x3   
=  3 
marks 
 

 OR  
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 (b) Q.  Sai Ltd. invited applications ………………………………. 
Ans                                                               

Books of Sai Ltd. 
JOURNAL 

 

Date Particulars L.F. Dr.  
Amount 

(`) 

Cr. 
Amount 

(`) 

 Bank A/c                                                                   Dr.  2,90,000  
     To Share Application A/c   2,90,000 
 (Application amount received on 58,000 shares.)        
     

 Share Application A/c                                            Dr.  2,90,000  
          To Share Capital A/c   2,90,000 
 (Application amount transferred to share capital.)     
     

 Share Allotment A/c                                             Dr.  58,000  
        To Share Capital A/c   58,000 
  (Allotment amount due on 58,000 shares.)                
     

 Bank A/c                                                                  Dr.  59,700  
 Calls in Arrears A/c                                                Dr.  300  
     To Share Allotment A/c   58,000 
      To Calls in Advance A/c   2,000 
 (Allotment amount received, calls in arrears debited 

and calls in advance received.)                                       
   

     

 Share Capital A/c                                                  Dr.  1,800  
         To Share Forfeiture A/c   1,500 
         To Calls in Arrears A/c   300 
 (300 shares forfeited due to non-payment of 

allotment money.)                                                                          
   

     

 Share First and Final Call A/c                               Dr.  2,30,800  
       To Share Capital A/c   2,30,800 
 (Final call amount due on 57,700 shares.)                       
     

 Bank A/c                                                                   Dr.  2,28,800  
 Calls in Advance A/c                                               Dr.  2,000  
       To Share First and Final Call A/c   2,30,800 
 (Final call received and calls in advance adjusted.)      

   
   

Note – Full credit to be given if an examinee has made a separate entry for receiving Calls in  
            Advance. 
 
 
 
 
 

 
 
 
 
 
 
 
 
(1/2) 

 
 
 
(1/2) 

 
 
 
 

(1/2) 

 
 
 
 
 
 
(1½ ) 

 
 
 
 
 
(1) 

 
 
 
 
(1) 

 
 
 
 
(1) 

 
= 6 
marks 
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26  (a) Q.  Sarah and Varsha were partners ……………………….. 
 
Ans. 

 

OR 
 

(b) Q. Inder, Jonny and Kapil were partners ………………………. 
 
Ans:  
 

Books of Inder, Jonny and Kapil 
JOURNAL 

Date Particulars L.F. Dr.   
Amount ( `) 

Cr.   
Amount ( `) 

2023 General Reserve A/c                        Dr.  80,000  
March 31     To Inder’s Capital A/c   45,000 
     To Jonny’s Capital A/c   15,000 
     To Kapil’s Capital A/c   20,000 
 (General reserve distributed among 

old partners in old ratio.) 
   

     

Dr.                                                             Revaluation Account                                                   Cr. 

Particulars Amount ( `) Particulars Amount ( `) 

To Plant & Machinery   (1/2) 10,000 By Creditors            (1/2) 20,000 
To Profit t/f to Capital   
     Accounts 
          Sarah      6,000 
          Varsha    4,000     (1/2) 

 
 
 

10,000 

  

 20,000  20,000 

 
Dr.                                                         Partners’ Capital Accounts                                             Cr. 
Particulars Sarah 

( `) 

Varsha 
( `) 

Tasha 
( `) 

Particulars Sarah 
( `) 

Varsha 
( `) 

Tasha 
( `) 

To Cash A/c            
                      (1) 

18,000 22,000 - By balance b/d 
                     (1/2) 

60,000 50,000 - 

    By Workmen 
Compensation 
Fund A/c     (1/2) 

 
 

12,000 

 
 

8,000 

 
 

- 
     

By Cash A/c             
                     (1/2) 

 
- 

 
- 

 
40,000 

    By Premium for 
Goodwill A/c        
                    (1/2) 

 
12,000 

 
8,000 

 
- 

To balance c/d   
                      (1) 

72,000 48,000 40,000 By Revaluation 
A/c               (1/2) 

 
6,000 

 
4,000 

 
- 

        

 90,000 70,000 40,000  90,000 70,000 40,000 

 
 
 
 
 
 
 
 
(1½ ) 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
(4½ ) 

 
 
 
 = 6 
marks 
 
OR 
 
 
 
 
 
 
 
 
 
 
 
(1) 
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“ Bad Debts A/c                                      Dr.  5,000  
        To Debtors A/c   5,000 

 (Bad debts written off.)                          
     

” Revaluation A/c                                 Dr.  5,000  
     To Bad Debts A/c   5,000 
 (Bad debts transferred to Revaluation 

account.)     
   

     

” Stock A/c                                           Dr.  29,000  
      To Revaluation A/c    29,000 
 (Value of stock increased by `12,000.)        
     

” Revaluation A/c                                Dr.  24,000  
     To Fixed Asset A/c   24,000 
 (Fixed assets reduced by `24,000.)                                                 
     

” Creditors A/c                                     Dr.  10,000  
      To Cash A/c             10,000 
 (Creditors paid off.)                                
     

” Inder’s Capital A/c                            Dr.  3,000  
 Jonny’s Capital A/c                           Dr.  17,000  
     To Kapil’s Capital A/c   20,000 
 (Goodwill adjusted on retirement.)        
     

” Kapil’s Capital A/c                              Dr.  1,00,000  
      To Kapil’s Loan A/c    1,00,000 
 (Kapil’s final balance in capital 

transferred to his loan account.)   
     

   

 

 
(1/2) 
 
 
 
 
(1/2) 
 
 
 
 
 
(1/2) 
 
 
 
 
(1/2) 
 
 
 
 
(1) 
 
 
 
 
 
(1) 
 
 
 
 
(1) 
 

 
= 6 
marks 

 PART B  
OPTION - I 

(ANALYSIS OF FINANCIAL STATEMENTS) 

 

27 Q.  The Debt-Equity Ratio of a company ……………………….. 
 
Ans.(B) --  Issue of Debentures 
 

 
1 
mark 

28 Q.  Statement I : Issue of fully paid bonus shares ……………………….. 
 
Ans.(B) --  Both Statement I and Statement II are incorrect 
 

 
1 
mark 

29 (a) Q.  Which of the following tools ……………………… 
 
Ans.  (A) --  Comparative Statements 

OR 

1 
mark 
 
OR 
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(b) Q.                             indicates the speed at which …………………………. 

 
Ans.  (B) --  Turnover Ratios 

 

 
 
1 
mark 

30 (a) Q.  Which of the following transactions will result ……………………… 
 
Ans.  (B) -- Cash receipts from sale of goods `94,000  

 
OR 

(b) Q. Dividend paid by a finance company …………………………. 
 
Ans.  (C) --  Financing Activities 
 

 
1 
mark 
 
OR 
 
1 
mark 

31 Q.  Classify the following items under major heads and sub heads. ……………………….. 
 
Ans. 
 

S.N. Item Major Head Sub Head 

(a) Mining Rights Non-Current Assets Fixed Assets /        
Property, Plant and 
Equipment and Intangible 
Assets - Intangible Assets  

(b) Loose Tools Current Assets Inventories 

(c) Income Received in Advance Current Liabilities Other Current Liabilities 
. 

 
 
 
 
 
1/2     
x        
6    
      
= 3 
marks 

32  Q.  From the following information, calculate ………………………. 
 
Ans. 

Return on Investment = Profit Before Interest and Tax     x   100    
                                                        Capital Employed 
 

        Profit Before Interest and Tax   
              =  Net Profit After Tax + Tax + Interest on Debentures 
              =  7,20,000 + 1,80,000 + 50,000 
             =  ` 9,50,000  

      
      Capital Employed  
                      =  Total Assets – Current Liabilities 
                      =  22,00,000 – 2,00,000 
                      =  `20,00,000  
 
       Return on Investment =  9,50,000  x  100         

                                           20,00,000 
                                        = 47.5%   

                       

 
 
 
(1/2) 

 
 
 
 
(1) 
 
 
 
 
 
(1) 
 
 
 
 
(1/2) 
 
= 3 
marks 
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33 (a) From the following Balance Sheet of Hira Ltd.…. 
Ans.  
                                                       Comparative Balance Sheet as at 31st March,2023 

Particulars 31.3.2022 
` 

31.3.2023 
` 

Absolute Change 
` 

% Change 

I.  EQUITY AND LIABILITIES     
1. Shareholders’ Funds     
   (a) Share Capital 12,00,000 15,00,000 3,00,000 25 
2. Non-Current Liabilities     
    (a) Long Term Borrowings 5,00,000 10,00,000 5,00,000 100 
3. Current Liabilities     
    (a) Trade Payables  3,00,000 1,00,000 (2,00,000) (66.7) 

 TOTAL 20,00,000 26,00,000 6,00,000 30 

II.  ASSETS     
1. Non-Current Assets     
    (a) Fixed Assets/Property,  
          Plant & Equipment and   
          Intangible Assets 

 
 

15,00,000 

 
 

20,00,000 

 
 

5,00,000 

 
 

33.3 
2. Current Assets     
    (a) Inventories 1,00,000 1,50,000 50,000 50 
    (b) Trade Receivables 4,00,000 4,50,000 50,000 12.5 

TOTAL 20,00,000 26,00,000 6,00,000 30 

 
                                                                                    OR 
(b)  Q. From the following information of NK Ltd.. ………………….. 
Ans.  
Common Size Income Statement for the years ended 31st March 2022 and 31st March 2023 

Particulars  Absolute 
Amounts 
31.3.2022    

` 

Absolute 
Amounts 
31.3.2023 

` 

% of 
Revenue 

from 
Operations 
31.3.2022 

% of 
Revenue 

from 
Operations 
31.3.2023 

I. INCOME  
  

  
  Revenue from Operations      20,00,000 25,00,000 100 100 

     TOTAL REVENUE 20,00,000 25,00,000 100 100 

     
II. EXPENSES     
Cost of Materials Consumed    6,00,000 8,00,000 30 32 
Employee Benefit Expenses    4,00,000 4,00,000 20 16 

      TOTAL EXPENSES 10,00,000 12,00,000 50 48 

     
III. Profit Before Tax (I-II)           10,00,000 13,00,000 50 52 
IV. Less Tax                                          3,00,000 2,60,000 15 10.4 

V. Profit After Tax (III-IV)        7,00,000 10,40,000 35 41.6 

. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
½ x 8  
 
= 4 
marks 
 
 
OR 
 
 
 
 
 
 
 
 
 
 
(1/2) 
 
 
 
 
(1/2) 

(1/2) 

 

 
(1) 

(1) 

(1/2) 

 

= 4 
marks 



 

67/3/1 CBSE 2024                                      Page 18 of 20 
 

34 (a)  Q.  Calculate Cash Flow from Investing Activities ………………………… 
 
 Ans. 

Dr.                                                              Machinery Account                                                   Cr. 

Particulars Amount (`) Particulars Amount (`) 

To Balance b/d 3,00,000 By Depreciation A/c  48,000 
  By Bank A/c (sale) 62,000 
  By Statement of P/L (loss) 8,000 
To Bank A/c (purchase) 2,28,000 By Balance c/d 4,10,000 

 5,28,000  5,28,000 
                                                                                                                                                         
 

Cash Flow from Investing Activities 

Particulars Amount (`) 

  Purchase of Machinery (2,28,000) 
  Sale of Machinery 62,000 
  Purchase of Goodwill (1,00,000) 

  Net Cash used in Investing Activities      (2,66,000) 
                                                                                                                                                  

 
(b)  Q.  Calculate Cash Flow from Financing Activities ………………………… 
 
       Ans. 
                              

Cash Flow from Financing Activities 

Particulars Amount (`) 
  Issue of Equity Share Capital  5,00,000 
  Bank Overdraft Repaid  (30,000) 
  Loan taken from Bank 1,00,000 
  Interest Paid on Bank Loan (60,000) 
  Dividend Paid                                     (1,10,000) 

  Net Cash Inflow from Financing Activities      4,00,000 

.                                                                                                                                         

 
 
 
 
 
 
 
 
(1) 

 
 
 
 
 
 
 
 
(2) 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
(3) 
 
= 6 
marks 
 

 PART B 
OPTION – II 

(COMPUTERISED ACCOUNTING) 

 

27 Q. Identify the type of software ……… 
 
Ans. (A)  -- Specific 
 

 
1 
mark 

28 (a) Q.  In a graph, the area bounded ……………………… 
 
Ans.  (D) --  Plot Area 

 
OR 

 

 
1 
mark 
 
OR 
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(b) Q.  Which of the following is not …………………………. 
 
Ans.  (D) --  Page Layout 

 

 
1 
mark 

29 Q. How is navigation conducted from ……… 
 
Ans. (B)  -- CTRL + Right Arrow (         ) successively 
 

 
1 
mark 

30 (a) Q.  Which Date and Time function  ……………………… 
 
Ans.  (C) --  Now (  ) 

OR 
 

(b) Q.  What is the outcome of an …………………………. 
 
Ans.  (C) --  Derived Value 

 

 
1 
mark 
OR 
 
 
1 
mark 

31 Q. Explain “Transparency and Control” and  ……… 
 
Ans.  
             Transparency and Control: 
 CAS provides sufficient time to plan, increase data accessibility and enhances 

user satisfaction with computerised accounting the organization will have 
greater transparency for day-to-day business operations and access to vital 
information. 

 This will make feedback and decision making timely hence better control over 
the processers can be established. 

  
             Accuracy and Speed:  

 CAS provides user definable templets (data entry screen or forms) for fast, accurate 
data entry of the transactions. It not only makes data entry fast but also provides 
checks to check its accuracy from time to time. At the same time the facility of 
generating desired documents and reports is also there.   
 

 
 
 
 
 
 
 
 
 
 
 
1½ x 
2        
 
= 3 
marks 

32 Q. State the parameters of Excel’s PMT function  ……… 
 
Ans.  
    The parameters of the PMT function are as follows. 

1. Rate: Interest rate per period of loan. 
2. Nper: Total number of payments for the loan. Its units should match with the 

unit of interest rate. 
3. PV: Present value i.e. loan amount. 
4. FV: Future value, which is taken as zero, is the balance at the end of the loan period. 
5. Type:  Whether payment is made at the beginning (value =1) or at the end (value 

= 0) of the period. 

     USE : This function calculates the periodic payment for an annuity assuming equal 
payment and a constant rate of interest.  

 
 
 
 
 
 
 
 

 
 
 
3 
marks 
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33 (a) Q.  Explain “Password Security” and “Data Audit”  ……………………… 
 
Ans.   
Password security 
Password security is a mechanism, which enables a user to access a system including 
data. The system facilitates defining the user rights according to organization policy 
consequently a person in the organization may be given access to a particular set of a 
data while he may be denied access to another set of data. 

       Password is the key (code) to allow the access to the system. 
 

Data Audit 
This feature enables one to know as to who and what changes have been made in the 
original data there by helping and fixing the responsibility of the person who has 
manipulated the data and also ensures data integrity. Basically, this feature is similar to 
audit trail 

OR 
 

(b) Q.  What is Data formatting …………………………. 
 
Ans.   
 Data formatting 
It refers to setting up spread sheet in such a way that the user of information can read and 
understand the information easily and quickly. Several tools and shortcuts are available to 
format spread sheet effectively. 
Following are the tools to format data. 

1. Number formatting 

• It includes adding %, decimal places, currency signs, date, time, scientific values etc. 

• Various number formats are available. 
2. Special format category– for which one has to select ‘special’ form category  option. 
3. Changing cell colours. 
4. Adding text formatting. 
5. Changing font size. 
6. Changing cell borders. 
 

 
 
 
 
 
 
 
 
 
 
2x2    
 
= 4 
marks 
 
OR 
 
 
 
 
 
 
(1)  
 
 
 
 
 
 
 
(1/2 x 
6 = 3) 

 
= 4 
marks 
 

34 Q. Using the worksheet, find out the error  ……… 
Ans. 

S.N. Error Reason  

(i) # N/A Value being looked up is not in array range. 

(ii) # NUM ! Negative value in square root function is invalid. 

(iii) # N/A Look up value is less than the array range provided. 

(iv) # REF ! The column value being searched is greater than array range provided. 

(v) # VALUE ! Value being searched is not available as column does not exist. 

(vi) # DIV/ 0 ! Value searched is being divided by zero 

. 

 
 
 
 
(1/2 x 
12 = 6) 
 

= 6 
marks 
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